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490|216 |[E21ER&EZETh#IMEER 0917 5k 0.2| 434,339
491 (&1t a,{b% ZAEh AR ER 17183 5% 0.2| 434,339
492|216 |E21ER&EETh R ER 17733 5% 0.31] 683,866
493|221t |E21ER&EEThRIMAER 1775 5k 0.14] 300,997
494(&1Emh a,{b% 2B #i A B 18903 5% 0.12] 260,603
495|F18H | EA{ERA AN I A 52 ERO56 311517 0.27] 590,049
496|FIEHE  [E2ERARETA R ZEER0794 5% 0.11] 232,588
A97|FIEHE  [E2ERARETA R ER0795 5k 0.21| 465,394
498|F=1E ’ﬂ:?%%u;—‘—éfﬁjzzéﬁxl492ﬂﬂsﬁ 0.27| 580,494
499|FI=HE  [E2ERAMETAE R ER 149315k 0.38] 826,546
500|138 |E2{ERANIETE R E 14943 5% 0.33] 710,795
501|F13=$8 ’{b$’%$u;%fﬁjt=§ﬁxl4961msﬁ 0.32| 686,906
502|138 |E2{ERANEIE R ZE 1497 5: 0.32| 686,689
503|F13E#E |22 bR EIE K= E1521-00003 5% 0.2 444,328
504|138 |E2{ERANIEIE A= 152815k 0.12] 260,603
505|138 |22 RN EIE A= 15291 5k 0.29] 636,306
506|138 |E2{ERANEIE A= 16061 5E 0.25| 537,711
507|138 |E2{ERANEIE RS ER00761H5: 0.39] 845,223
508|F13=#E |E2{bRANIEIE RS ER007 81 5k 0.35| 762,264
509|138 |E2{ERARIEIE RS ER0081 i 5k 0.42| 916,237
510|138 |22/ EIE RS ER0108 5k 0.4| 878,667
511|713 |E2ERANEEARSEER02121M 5k 0.25| 552,696
512|138 |E2{ERANEIE AR ER 026415k 0.1 224,336
513|138 |E2{ERANEIE RS ER02661H5: 0.31] 668,664
514|138 |E2{ERANEIE AR ER0267 M 5: 0.33| 716,876
515|138 |E2{ERANEIE RS ER 05221 5k 0.14] 305,992
516|131 |E2{ERANEE RS ER1751 M 5R 0.18| 401,112
517|718 |E2ERANEE RS 17443055 0.19| 409,147
518|138 |22/ EIE R EEER 04561 5k 0.29| 622,407
519|F13E#E |22/ EIE REEER 1755 5k 0.26] 571,372
520|138 |22 RN EIE REEER 175615k 0.26] 571,590
521|718 |22 RN EIE REEER 181815k 0.21| 456,056
522|138 |22 RN EIE R EEER 2037 5k 0.48| 1,035,029
523|138 |22/ ETE R EEER 25801 5k 0.24| 513,605
524|138 |22 RN ETE R EEER 2581 it 5k 0.24| 513,605
525|138 |22 RN ETE REEER 26221 5k 0.14] 294,699
e AR B AER2644H5E(R D E B KE KR
526| FI= 2643 1~ 2643-2 * 2644-1115%) 0.24] 522,944
527|MEHE B B ANEEN S ER12235h 5% 0.15| 323,582
528|F13E#E |22 LA EIE =R ER1097 5k 0.14| 296,002
529(MEHE  |EEBANEE = E ER01943 5% 0.21| 450,409
530| M =8 E%I:%%u%ﬁ%%ﬁﬁosgsim% 0.38] 832,844
531(M=EHE |E EBAEEZER0729ih 5% 0.49| 1,061,958
532|F1EE |22 bR =1E 5= A B 0844-0003 31 5% 0.45| 975,090
533| e iE |E2{biARR B IEIRELER 0785 5k 0.27| 575,499
534|fEEE |22/ B IEIREIEZ 0934 5k 0.17| 364,844
535|fEEiE |22{bRARR B IEIRELEZ 0959 5k 0.12| 267,770
536| e EE |22 BIEIREIER 16015k 0.28| 597,216
537\ EIE |E2{LARRBIER A ER0719iM SR 0.18] 382,218
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538|EEE |[SCREEBEEE 10291t 5k 0.15| 332,703
539|505 1313%?%000{&35?)?%DEx06381‘|ﬂ5J%(EE7%E§ﬁ%Ex 0.36| 780,289
540[2Z{tmh a,{b% ZACh 22 B 01121055 0.11| 238,886
541|BEEE [S{CRE B EIRFEZ03651t 5k 0.12| 265,164
542|8Emh | ERMEALH AP FERASF/\ER014135% 0.34| 742,285
543|805 042:7%%0 Oo{cl):i;EE)F'ﬁD&omsﬂﬁ@%ﬁﬁﬁﬁ%ﬁx 0.12| 254,957
544|505 §égg$%ooo{cl):iﬁ£§)ﬁﬁDEx0204im5ﬁ(EE7%ﬁ§ﬁ%Ex 0.41| 886,702
545|815 0613%?%000{5%51?)?%DExOZOgimﬁﬁ(iﬁﬁﬁﬁﬁ%Ex 0.5| 1078028
5465 /L05 07{1|:2$%000{c|):iﬁ£§)ﬁﬁDExOZlOiﬂyﬁ(i%%ﬁﬁﬁ%Ex 0.35| 756,618
547|810 T/l{zlﬁ%ooo{giﬁmig)laﬁDExOZQQitﬂﬁ(EE%ﬁﬂ%Ex 0.15| 334658
548|E /L0 112:7%000{(1):%515%;?DExOBOBitﬂﬁ(EE%ﬁﬂ%Ex 0.48| 1.041761
549|505 11{111%000{(1):%515%;?DEx0318i‘Lﬂ5)%(EE%ﬁ$E%Ex 0.64| 1.388146
550|875 ;g:f%ooo{(l):iﬁmig)laﬁDEx0334i‘Lﬂ5)%(EE%$$DEx 0.13| 289704
551|805 072?%000{(1):?&31?;?DExO4031‘Lﬂ5)%(EE%$$DEx 0.30| 841531
552|221t a,{t% {5 7 P9 O ER05401 5% 0.17| 359,632
553|# b |E{LRAE (L E P 1 2054455 0.16| 353,117
554|821 %Q;iz 48{%?0?;1%&0205 “00023 R (R 0.34| 743,588
555|&{Lm %ugi%gss{%?oﬁﬂi?)&()?)&a “00033E IR (R 0.12| 264,947
556|&(Lm ﬂgi%ggg{%gﬁoﬁﬂﬁgfxosBG -00233E (R 0.14| 295,785
557|& (b ﬂgi%g?z{%gﬁoﬁﬂﬁgfxom “00103ESR(R A 0.19| 418,268
558|& (L $Dgi%717{%?0§$£)&0407 -00023 R (R A 0.51| 1,105,826
559|& (L ﬂgi%;%?gﬁgfxo“m “00033E IR (R 0.28| 606,771
560|& (b ﬂgi%g{%?oﬁigfxmm -00043E R (R A 0.53| 1,150,780
561|815 ZEEEX%?EEEEOS% -00024E55 (557 ) 0.25| 537,928
562|221 TB{ET%OOO{&FEE)F‘?DExOGOBﬂﬂs)‘%(EEEjﬁ@E%Ex 0.23| 509045
563|221 Ta%?%ooo{giﬁmigfﬁDExOGOOﬂﬂs)‘%(EEEH:fFDEx 0.16| 337264
564|215 T/lglféooo{giﬁmigfﬁIZIExOZ84ﬂﬂ5)‘=E(EE7’%E$E%Ex 0.24| 517297
565|815 ;ﬁg?oeg{%gﬁoﬁ?ﬂ?)&()128 -0007HESR(R = 0.63| 1,370,773
566|F 1M  |E2{EMMEE M IER] ER05881h 5% 0.22| 478,207
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567|821Emh  |BERRE L IERN ERO587 5% 0.2| 440,419
568|F (| ERAECTHIERIER0611-0002115% 0.36]| 782,895
569|821k |[EERREEHIER ER0611 3SR 0.36] 782,895
= (LR B 7 EL T
570|81EH ?gg%ig;fgl’;ﬁégﬁgﬁ?\E’@“g'oomﬂt 0.12| 259,300
- BB E A B FER I B+ /)\ER0119-0003 it
s571l8Em [0 0.66| 1,430,494
5% (3R & 47 58 E20110-000013t 5%) ' T
- S EBE/ ETHAR FERAEF/\ER0119-00021t
s572|81Emm |20 0.28| 601,776
5% (35 & 47 58 E20104-000013t 5%) ' '
(LR B 7 EL T
573|81LH ?gg%ig;fg&igﬁgﬁ%\E’(m”'ooozm 0.18| 400,243
(LR B 7 EL T
574|8EH ?gg%ig;fg&igﬁgﬁgﬁ?\EXOHS'OOO?’W 0.33| 718,830
(LR Sy T
575|815 ?%I;j%i;%;@%&iﬁé%ﬁ%\EXMOS'OOOGW 0.33| 716,442
= (LA B 7 E T
576|847 ;;ﬂ:%a/{bﬁi@w%&@%&b%d\ﬁxons—oooﬁm 0.25| 532933
(LA B 7 EL T 2
577|815 Zlﬁ;;é’jﬁg’oﬁéﬁg%”\EXOZBOW%(EE 01| 218,255
- BB E A B FER I B/ )\ER0273-0005 i
578|84bm |5l 2" 0.1| 210,654
5% (35 & 47 B8 E20429-00001 5%) ' '
- b E 2 EGPHEL 2 -
ST BT |Gt orn cooomiy | 042 256260
= 2 BB 4R 5 ER0196-000031 55 (R EZ L 54
580|& 1t ﬁf}ﬁ?@?ﬁ?@ﬁg%ﬁj\230253%"‘%) 0.92( 1,994,917
= B E 2} B 1/ \ER02543 5 (3R
581|&21Emh 18 58 30201000041 55) x ( 0.17| 375,486
582|821t Ez{ls%ﬁz{tﬁ?@a:ﬁﬁﬁ%%d\E§0227i1ﬂ%ﬁ 0.56| 1,218,971
g% E BRI EL 2 -
583 EZ'”:,FE ;}E/bﬂzﬁ%ﬂ {I:FE@ ?Eﬂ@ ?lJ\EXOZZG OOOZiﬂ'l 023 490,803
584|541 BB E (A B FER B/ \ER0175-0004 i 023 494060
-/ %);EL, . y
585|221tk |E2{ERAE L h#i 1 ER0563-0001 it 5% 0.2| 429,344
= Z = = AR ED =] INE| A G L
586|847 E’,ﬁfjﬁ?ﬁ?ﬁ.ﬁi@@féf”m’jﬁ(ﬁ” Bl S EI T E 0.23| 492974
587|821Emh  |BERAE LM ER0602 3158 0.26| 574,413
588 E;beE B ERAEZ bkt ER 1656358 0.14| 304,037
589|fEBE |E{LRA R BIEREE ER1098 5% 0.15| 330,097
590|E1Em  |E2{ER&E{EmhFIE ER 19543 5% 0.25| 538,580
591|821Emh  |[BERRE LR ER 1921 5% 0.28| 608,074
592|821Emh  |BERAE{EhiifihE ER 1904 3558 0.15| 328,360
593|821Emh  |BERAEZ{EmhifiE ER 1909558 0.3 656,720
594|821Emh  |BERRE LRI ER0157 5k 0.26] 564,640
595|221Emh  |E2{ERAEZ &4 ER0001-0001 it 5% 0.41| 890,828
596|221Emh  |BZERAEZ i ER0010M 5% 0.13| 271,462
597|81bm  |E{E&E{EhE lER 0162155 0.28| 608,943
598|E{Emh %2%%7%%2%2%&500261@% 0.32| 700,805
= g {E%E A ER P B8/ \ER0258-0001 it
599|821t ir{a(iﬁ{%;f?%ﬁﬁozm-ooooim%ﬁ) | 0.1 219,993
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601|fEEIE |22{LRARRBIETBAIER 03491t 5k 0.16] 349,860
602| e BiE |22{LRARRBIETBAIER 03501t 5k 0.26] 572,893
603| e EiE |22{LRARRBIEIBAIER 03515k 0.18] 398,071
604|fEEIE |E2{LRARRBIEIBAIER 03745k 0.14| 307,946
605|fEEiE |E2{LRARRBIE]BAIER 03761 5: 0.1 212,392
606| e EiE |E2{LRARRBIEIBAIER037 75k 0.19| 421,308
607|fEEIE |E2{LRARRBIEIBAIER0378iMh 5k 0.19| 421,308
608| e/ BiE |22{LRARRBIE]BAIER 0355 5k 0.37| 804,612
609| e BiE |22{LRARRBIE]BAIER 035615k 0.12] 260,169
610| e BiE |22{LRARRBIE]BAIER 03581 5k 0.12| 262,992
611|fEEIE |22/ BIEIBAIER0367H5: 0.15] 333,355
612|fEBiE |E2{LRARRBIE]BAIER 03815k 0.14] 293,396
613|fEEiE |E2{LRARRBIE]BAIER 03891t 5k 0.23] 507,959
614|fEEIE |22/ BIEIBAIER0413iH5: 0.17| 373,097
615|fEEiE |E2{CRARRBIEIBAIER0128H 5k 0.15| 317,719
616| e EiE |22/LRARRBIEIBAIER0065H 5k 0.2| 436,510
617|fEEIE |E2/CRARRBIEIBAIER0097 M5k 0.25| 540,317
618| e EiE |22{LRARRBIETBAIER 0098 5k 0.23| 488,631
619| e BiE |22{LRARRBIEIBAIER0130M5: 0.14] 309,901
X E LA RRBIEIBAIR0131 SR GREITEFNER
620|fEEEE 0130-0000412% 2 ) 0.14| 299,042
621 EiE |22 LA BIEIEAIER0091-0001 5% 0.14| 304,037
622| e BiE |22 bR BIEIBAIER01193h 5k 0.2| 433,687
623| e EIE |E2{LRARRBIEIBAIER0120 5k 0.41] 886,268
624|fEEIE |22{CRARRBIE]IBAIER0118iHh5: 0.4 871,066
625| e EiE |22{bRARRBIETBAIER 0090 5k 0.14| 311,421
626|fEEiE |E2{bRARRBIEIBAIER 03435k 0.2| 439,985
627|fEBIE |22{bRARRBIE]BANER 03351 5k 0.45| 975,307
628| e B |22{LRARRBIHE B ER03341M 5k 0.22| 477,772
629| e B |2 LA BIERRE ER11120h 5 0.38] 832,193
630|ZRPa4S |22 bRAAR PR 402 B ER 20233 5t 0.19| 417,617
631|474 |22 ERAAR PR 402 B ER 20291 5k 0.21| 461,702
632| B |22{bRARRBIEIBAIER0373M 5k 0.14| 307,946
633| B |22{LRARRBIEIBAIER0375iH 5k 0.1 212,392
634| e EIE |22{EARRBIEIBAIER 00381 5k 0.14| 298,825
635|221t |E2{EE&EEh#IMEER 1657 5k 0.22| 477,772
636|E1b™m  |E2{ER&EZ{Eh#I4E E20603-00003 5% 0.12| 263,426
iy EEREEMARFERAEF/\Ex0120-00081
637|E1tm fﬁ?%ﬁ%i’% %O%)i%? E - 0.16| 344,431
- bR E 27 BRI E+//\Ex0120-0008
638|E LM %ﬁ§§?*%%ﬁﬁigﬂgiiigioggiﬁéfﬂ E . 0.18| 386,779
= EAI 2 2 EZ PR S/ \ER02561th 5E (3R
63916 | o en0241-00004128) 012/ 267,553
= EERE(EM AR R F/\ER0255H1 57 (37
640 Z1E™ | 4o e £10207-00004128) 0.16] 354,420
641|121 |E2{ER&E2Eh#I4E EX 1955 5k 0.22| 479,075
642|221Em™h  |E2{ER&E2Eh#I4E EX 19501 5k 0.13| 287,532
643|E21bm™h  |E2{ER&E2Eh#I4E EX 01591 5k 0.19| 412,622
644|221 |E2{ER&E2Eh#IME EX 00121t 5k 0.25| 542,923
645|221 |E2{ER&E2{Eh#I4E EX 05621t 5k 0.23| 488,631
646|221Em™  |E2{ER&E2Eh#I4E EX 04361t 5k 0.17| 369,188
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647|221 |E2{EEAEZETHh#IMEEZ 00113t 5% 0.13| 271,462
= B2{ERAE2{Em AP O ER0335M SR GR B IEEER
648|821t 0952-0000415%) 0.33| 708,841
= LB EAEm AP ER058215E 3R A A ER
649|821t 0790-00004158) 0.15| 325,754
= 2R E(Em P9 ER0339-001 2155 BR &~
650|&21Emh 1£30976-0000415F) 0.17| 378,526
= 2R E (b P9 ER0339-0003 1 55 3R &
651|&21Em 1E30975-0000415F) 0.19| 419,354
652|E1Em |22 bR b ERIEX0540-0003 3 5% 0.13| 284,926
653|E1bm  |E2{ERAEZETHIERIEX 0593t 5k 0.1 223,250
654|216 |22/ ETHIERIER 06121 5k 0.18] 393,511
655|E1Em |22 bR b IERIEX0611-0001 31 5% 0.38] 814,385
656|E1Em |22 bR b ERIEX0536-53 55k 0.38] 816,339
657|E1bm |22/ EhIERIER 0547 i 5k 0.11| 237,149
658|E1bm™h |22 b2 ETHhIERIER 05481t 5k 0.12] 251,699
659|E1bm |22 bR b ERIER0540-00023 5% 0.13| 284,926
660|F13=iE |22/ =5 E 05591t 5k 0.21| 465,607
o EEREEMmARFERAEF/\ER0120-00081
6611 FAET | e 150 25 E20133-000055) 018 395682
662|E1E™ |22/ EHhIEREX 0593 i 5k 0.11| 236,497
663|E1b™  |E2{ER&E2ETHhIEREX 0593 i 5k 0.14| 293,179
664|216 |22/ EHIERIEX 0593 i 5k 0.11| 244,533
665|21E™  |E2{ER&E2 b IERIEX 0593 i 5k 0.12| 262,775
666|216  |E2{ER&E2EHhIERIEX 0593 i 5k 0.28| 616,544
667|221 |22 EHERIER0610-0004 3157 0.18] 382,869
= 22 1B E2{Em 78 P9 0 ER0335-00091h 5% (3R £
668|E LM F1E20990-0000 4 5%) 0.12| 264,947
iy EEREEM AR FERAEF/\ER0298-0004 1
669\ AT | e 150 5 E20878-0000515) 0.1 219,341
670|138 |E2ERANEEZE 06845k 0.47| 1,019,977
671|711 |2 ERARANEEEE 0647 5R 0.33] 723,945
672|EBIE |22{CRARRBIEIBAIER03721M 5k 0.14| 306,643
673|EEIE |22{ERARRBIE]IBAIER 03401 5k 0.26] 571,155
X A EREBERESRIIIBMEGRDEBEER
674|fEEIE 11121 - 1112-2402812) 0.14| 307,077
675| B |22/ BIERRIEER 082615k 0.16| 347,254
676|fEEIE |22{biARRBIERRNIEEX08031M 5k 0.16] 336,830
677|EEE |2 LR BIERRNEEX1088-00013H 5% 0.18] 398,071
678| e B |22{LRARRBIERRNIEER08961H 5k 0.23| 506,222
X 22 {ERARR B SRR NE ER0896-0001 15 (3R & ENE
679|fEEiE £30897-0000 1 25) 0.23| 490,803
680|E2{bmh |2 {ERAE (b = B1EZ0940-000211 5% 0.33] 720,785
681|F KA |22{ER4FE /K40 5 B ER 0529t 5k 0.25| 542,923
682|221t |E2{ER&E2EHIERER0607 i 5k 0.1 223,033
683|221t |E2{ER&EZEhERER 0607 i 5k 0.1] 224,553
684|040 |E1ERRE 040 _ & ER04561h 5% 0.23| 505,570
68540 |E1ERAE O _ &S ER0448ih 5% 0.15| 315,981
686|140  |E1ERRE O 40 _ &S ER04461Hh 5% 0.11| 233,240
68740 |E ERRE O _ &S ER05271h 5% 0.22| 476,904
688|FH K4 |E EBF KL N & ER09931 5% 0.13[ 282,103
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689| M EE ’{t$%$u55iﬁ¥ﬁ§xﬁzlz55ﬂﬂm% 0.25| 537,494
690|F13=#E |E2{LRANIEIEZ Z 09531 5k 0.15] 336,178
691|133 |E2LRANEIE R Z 09541 5k 0.17| 370,491
=on PAYE VAN
692|728 Eu)ﬂﬁﬁuxfﬁfﬁﬁxogfssimﬁ(lmﬁm =i 011 230208
693|F1=sm iﬁ)ﬂz%’ﬁn%E?Ziﬁﬁogmim%ﬁ(lmﬁméﬁ%\ 01| 225335
694 | M EE ’ﬂ:?%%u%fﬁ?;?ﬁxlozsimsﬁ 0.26] 572,241
695|138 |22 LRANEEEZ 102915k 0.27| 586,140
696|F13=iE |22 LRANEERZZ 1031 5: 0.27| 580,711
697|FMEE ’ﬂ:?%%u%fﬁ?;?ﬁxloszimsﬁ 0.28] 602,862
698|HI1=iE |E2LRANEERZEZ 11021 5: 0.13| 287,315
699| N |FLRRAIS I FR 22 B 110340 0.22| 480,596
200|F125m g};i/filljl)xﬁﬁ%ﬁExO963-OOOliﬁ5JE(lO4$7ﬁ 011 228356
701 R38R |EALREAI SRR B ER04451 SR (102 F NS 0.29| 621,321
702|FIEE | EALREAI SRR B ER 05041 5R (102 F N 0.3] 660,412
/\
7203|7158 i)ﬂ:?ﬁn =B85 & R0507-0001 #15%(102FE A 0.25| 542923
704|713 |22 bR EEAREERI011MSR(102FE S 0.13| 278,194
705|131 |22 ERANEEARE K115 SR(102FE NS 0.27| 579,842
706|F13EE |2 ERAANEE AREER1237M SR (102FE NS 0.29] 620,670
707|F13EE |2 ERANEEEZ 1043 5R(102FE S 0.17| 365,624
708|131 |22 LA EIE =R ER0606M SR (102FE NS 0.26] 568,884
700|F13EE |22 LRANIEIERT 8 ER 1225 SR (102N 0.2| 438,030
710|F13EE |22 AN EIE 8 ER1237H SR (102FE NS 0.19| 414,793
711|F13EE |22 bR EEARERI754M SR (102FE NS 0.25| 534,019
712|F13EE |2 AN EEEE 05335 (102FE NS 0.22| 468,869
713|F1EE | bR EE AR ER1181MSR(102FE NS 0.58| 1,255,456
714|718 |22 AN EE =R ER0993 M SR (102 FE A 0.4 863,031
715|F1EE |2 ERANEEEZ 1074 5R(102FE NS 0.49| 1,055,226
716|138 |2 ERANEEEZ 1101 5E 0.31] 669,533
717|F1EE |2 ERANEEEZ 1104 5R 0.24| 515,126
718|131 |E2ERANEEEZ 11055k 0.14] 293,396
719(M=EHE | B ERBANETENT 55 FR0496Hh 5% 0.13| 279,280
72013088 |22 ERAIE /040 _— B ER0457 SR 0.13| 292,527
721 |35 0B ﬁz{t%im\?EB:EEQO445im%E 0.15] 334,658
72213088 |22 ERAIE /O 40— B ER04433h 5k 0.43| 944,252
723|F1EE |2 ERARAEEEZ 1106 57 (R ITHR) 0.25| 540,752
724| M EE ﬁ’{t$%$uéfﬁ¥ﬁﬁﬁﬁxos5oimsﬁ 0.68| 1,486,524
725(MEE | B EBANEENT & ER0356h 5% 0.19] 402,198
726|MEE | B EBANEE & ER0357H 5% 0.15| 334,006
727|138 {I:$%$D7%fﬁ¥ﬁﬁﬁzl§;<0553 00021th 5 0.27| 581,362
728|F1EE |22 ERARNI =T B R 0354-00053 5% 0.16] 348,340
729|MEHE B EBANEENT & ER0351 i 5% 0.49| 1,068,039
730|138 ’{I:$%$D;E;f,ﬁ¥ﬁﬁﬁﬁxos47ﬂﬂsr% 0.11| 245,618
731|F1EE |22 ERAANEEARZE 024215k 0.18| 387,213
732|F1EE |22 EIE A= E0242-0004 3155 0.12] 261,689
733|F1EE |22 ERANEEARE 02785k 0.14| 307,512
734|138 ’{t%%u%ﬁﬁ?ﬁxoz?gmﬁ 0.25| 542,272
735|713 |E2{ERANEIE A ZE 028015k 0.13| 291,224
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736|MEE %I:?%%n%fﬁﬁ?ﬁxo:sglﬂﬂsﬁ 0.19] 404,369
737|133  |E2ERANIEIE AR ZE 0405 5k 0.23| 498,838
738| 13 |22 {ERANIETE A= 040615 0.19] 406,758
739|122 {ERANIEIE AR ZE 04103 5: 0.13| 286,446
740| A EE ’{t$%$u;=—=;f,§7<§5:<0476ﬂﬂsﬁ 0.28] 609,377
741\ F13EE | E2ERANEIE AR ZE 04821 5k 0.11| 247,573
742\ F13=3E |22 ERANIETE AR ZE 04841 5k 0.16] 355,723
743|FMEE ’{t$%$u;=—=;f,§7<§5:<0485ﬂﬂsﬁ 0.3] 641,952
744\ F13=3E |22 ERANIEIE R Z 0487 3R 0.38] 828,067
745|138 |22 {ERANIETE R ZE 0488 5k 0.25| 551,610
746| M EE ’{t$%$u;=—=;f,§7<§5:<0494ﬂﬂsﬁ 0.35] 750,103
747\ F13EE | E2{ERARIETE A5 EX 05501 5k 0.14| 299,476
748|F13=E |22 {ERANIETE A= EX0551 i 5k 0.28] 604,165
749| M EE ’{I:%%u;—‘—éi@:?ﬁxossgﬂﬂsﬁ 0.23| 493,409
750|138 |22 ETE A5 EX 05601t 5k 0.15] 331,835
751|713 |22 ETE A 5= X 05891t 5k 0.17] 359,198
752|131 |22 ERANEE AR E 0618 5E 0.2 434,121
753|131 |E2EBANEE AR ZE 06201 5: 0.25| 544,878
754|131 |22 ERANEE AR ZE 0621 5: 0.25| 544,878
755|138 |22 bR EE AR E 06235k 0.2 435,207
756|131 |22 ERANEE AR E 062415k 0.16| 342,476
757|138 |22 bR EE AR E 062515k 0.16| 342,476
758|118 |22 LA EIE A= 06261 5: 0.2 429,127
759|131 |22 bR EIE AR ZEER0627 M 5: 0.1 207,180
760|131 |E2ERANEIE AR ZE 062915k 0.23| 490,585
761|713 |E2{ERANEIE AR ZE 0630 5E 0.22| 466,914
762|131 |22 ERANEE AR ZE 0631 5: 0.22| 466,914
763|131 |E2ERANEE AR E 063215k 0.12| 264,947
764|131 | E2ERANEIE A E 06331 5E 0.1 216,083
765|131 | E2{EBANEIE A E 063415k 0.1 227,159
766|F13EE | E2{ERANEIE A= 0658 5k 0.19| 406,107
767|F1EE | E2EBANEIE A E 06661 5E 0.17| 363,107
768|F13EE |22 LA EIE K= E20666-0001 3155 0.17] 362,890
769|131 |22 LA EIE AR E 0667 5E 0.1 219,775
770|713 |E2{ERARNIEIE A= 0668 5k 0.32] 685,169
771|AEE ﬁ%t%%ﬂ%ﬁﬁ%ﬁﬁoawi&% 0.12] 260,603
772|718 |22 ERANEE AR E 068315k 0.22| 477,772
773|713 |22 bR EE AR E 073815k 0.27] 583,968
774|718 |22 ERANEE R E 07451 5: 0.27| 593,524
775|138 “%t?ﬁu%iﬁﬁ?ﬁxomeﬂsﬁ 0.25| 543,140
776|131 | E2ERANEEARE 0751 SR 0.19] 409,364
777\F1EE | E2ERANEIE A= 0845 5k 0.14| 305,557
778|138 ﬂ:?ﬁu%fﬁﬁfﬁxogmiﬂﬁ 0.31] 663,452
779|713 |22 ERANEIE AR E 0943 5k 0.11] 236,063
780|M=EHE  |EEBANEE KT ER0944 13 5% 0.15| 328,360
781|138 ’{t$%$u;féf,ﬁjz=§ﬁx094simsﬁ 0.25| 547,267
782|F1EE |22 ERANEEAE 11055k 0.28] 603,296
783|F1EE |22 {ERANEIE A E 12355k 0.17| 367,016
784|F13EE |22 RN EIE K= E0242-0003 31 5% 0.19] 412,839
785|138 ’{t$%$u%Eiajtéiﬁzoz46ﬂﬂw% 0.3| 644,341
786|F1EE |22 {ERANEEARZEER0257 M 5E 0.18| 383,738
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787| MEE %I:?%%n%fﬁﬁ?ﬁxozwimsﬁ 0.13| 279,931
788|MI=E |22 {LREANIEIEARZE 03421t 5k 0.21| 446,066
789|F13=#E |22 {ERANIETE A= EX04001 5k 0.21| 451,061
790|133 |22 ERANIEIE AR ZE 067215k 0.17| 376,354
791|AMEE ’{t$%$u;=—=;f,§7<§5:<0846ﬂﬂsﬁ 0.11| 247,139
792|713 |E2{ERARIEIENEFEX 0960 5k 0.15] 331,618
793|133  |E2{ERANIEIENEFER0961 i 5k 0.25| 536,191
794| M EE ’{I:%%u;%fﬁﬂﬁiﬁxogazimsﬁ 0.13| 274,719
795|133  |E2{ERANIEIENEFEX 0983 5k 0.3] 641,301
796|131 |E2{ERARIE=IENEFEX 09991t 5k 0.36] 785,719
797| M EE ’{I:%%u;%fﬁﬂﬁiﬁxloooimsﬁ 0.29] 628,271
798| MEE |ELRAFISEIEAEFER0975-0005 i 57 0.37| 797,229
799|MEE |ELRRASEEAEFER0983-0001 it 5% 0.33| 716,224
800| A =8 ’{I:%%u;%fﬁﬂﬁiﬁxogsgimsﬁ 0.13| 291,224
801(M=EHE |ECBANEEFEFER0970 5% 0.15] 316,798
802(M=EHE |E CBANEEFAFER0977H 5% 0.37| 802,441
803|M=EHE |E EBANEEF A ER0978iHh 5% 0.12| 270,159
804|M=EHE |EEBANEEF A ER0984 1 5% 0.43| 940,343
805(M=EHE |E EBANEEFAFER11003 5% 0.41] 895,389
806|F13=1E |E2{bLRANIEIENTEEER12160M 5 0.24| 524,898
807|F 1= |E2{bRARNI =AM 82 ER 04921 5k 0.24| 519,686
808|138 |E2{bRARNI=TEHT 8 ER 0495 5k 0.17| 368,102
809|F13=#E |E2{bRARNI =T8T 82 ER 04991t 5k 0.41| 887,354
810|F13=#E |E2{bRANIE=E =50 E% 03991 5k 0.13| 287,098
811|F13E#E |22 bRANEIEZAER0674MM R 0.27| 578,973
812|138 |22 {LRANEIE =R ER0670MM5E 0.1 213,912
813|138 |22 bRANEIE=EAEX1156H5: 0.33] 724,911
814|118 |E2{ERANEIE =R ER07881H 5k 0.13| 274,285
815|F1EE |E AN EEEA 1091 SR(102FE NS 0.6/ 1,307,576
816|131 |E2bRANEIEZAER1118HH5E 0.16] 351,380
817|F1E |22/ EIE = Z EX00501t 5k 0.28| 597,216
818|F1E#E |E2{ERANEEEZ 00515k 0.12| 269,724
819|F1EE |22 LN EE=Z E0053-00023 5% 0.11| 234,543
820|138 |E2{EBANEEEZ 038415k 0.17| 363,976
821|F1EE |E2ERANEEEZZ 0970 5k 0.1 227,159
822|131 |E2 bR EEEZ 09755k 0.28] 605,468
823| 1 |E2 LA EEEZ 09795k 0.12| 262,775
824|118 |22 EE = Z 09801t 5k 0.11] 235,629
825|138 |E2ERANEEEZ 09841 5k 0.13| 271,896
826|MEiE “’{t%%u%fﬁ?;?ﬁxoggsimsﬁ 0.27| 585,054
827|M=EHE |E LB ANEE =L ER0995H 5% 0.55| 1,193,345
828|M=EHE |E ELBAEEZ L ER1003H 5% 0.24| 525,115
829|118 {t$%$up%f,§?;?ﬁx11131msﬁ 0.25| 533,802
830|M=EHE |ELBANEE =L ER00261H 5% 0.21| 466,262
831|(M=EHE |EEBAEEZZ 00291t 5% 0.23| 489,065
832| M =iE %I:?%%D;E;f,ﬁ?;?ﬁxoo44imsﬁ 0.16] 346,168
833|M=EHE |ELBANEE =L ER0045iH 5% 0.12| 255,174
834|M=EHE |EEBANEE =L ER0049ih 5% 0.27| 583,751
835(M=EHE | EBAEEZZT 10185 0.1 206,745
836| M =18 %I:?%%u%fﬁ?;?ﬁxlolgimﬁ 0.17| 360,067
837|M=EHE |E EBAEEZ L ER1095iM 5% 0.1 211,089
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838| M= |ELRANEERZEZ 1017 5: 0.12| 265,815
839|HM£=#E |ELRANEEZEZ 10755k 0.47| 1,020,044
840|FIXE | EACLREAN AT 20 Be 1106310 5% (F 3T 1R) 0.25| 532,499
841|138 |E2LRANEERZZ 114505k 0.12| 255,608
842|F13=#E |22 {ERANIEIEZE L EX00521h 5k 0.3 643,473
843|FMIXH | EALIEASIAFE LB 1107357 0.31] 681,912
844|FIXE | EALIEA I AT ER 0496115 (L2 NS 0.21| 454,101
845(M=EHE  |E EBANEEARFER0814M 5% (102F NS 0.1] 222,816
846|131 |22 RN EIE RS ER0905M SR (102FE NS 0.12| 255,391
847|FIXE | EALRAAN I A B ER 05935 (L02FE NS 0.23] 502,530
848 %u SiH (B bR EAR0787TIISR(102FE N E 0.25[ 538,146
849|E1bmh  |E2 LA ETh#IAIER0074 M SR (102 A 0.18] 400,895
850 E%EFE a,{b% 2{Emh i ER04533 5% (102 FE NS 0.23| 494,060
851|F b |EALRAEAL T RIIAER 0454 5R (L02EF N 0.21| 453,884
852 %n SfE | B LR ANEE AR ER0970-0001 i 5% 0.13| 288,670
853|E1bmh  |E2 bR Eh g ER 09221 5k 0.11| 230,427
T iml{l;)%% b g 144131 5% (= 78 P9 L ER0630 01| 222251
= BB (b 4R BRER 07681 5% (R 7 24 1 ER P 24
855|821t 2 /EE0173-0011 H128) 0.18| 391,515
=, = 7|\ -
856|2:1L (fagbj(iﬂ {EE;E BT RAST /0226 0.16| 344,865
= EERAE (b 4R BRER 07023 5% (R 7 22 1 ER P 24
857|&21Em _jr/J\520299 028 0.18| 389,180
858|E1bmh  |E2 bR ETh M EX 1893 (&%)l 5% 0.17| 362,021
859|821k a,{t% Z{Eh 22 EZ 01991t 5% 0.16] 345,734
860| e EiE |22{LRARRBIETEAIER0104-0000(E8 )i 5k 0.17| 368,102
861|fEEiE |22{LRARRBIEIBAIER0409it 5k 0.32] 684,735
862 |88 Eﬂl:%%ﬁf%ﬁﬁ]ﬁ%ﬂE§0092-0000ﬂﬂ1‘3ﬁ 0.17| 367,668
863| e EiE |22 LRARRBIETBEAIEX0093-00003 5% 0.21| 463,656
864|FIXH | EALAAANSIE A HEER 083211157 0.2 442,591
865|131 |22 EIE KN=EE1141-00003 5% 0.33] 722,088
866 | F1>=38 ﬁ%t%%ﬂ%ﬁﬁ%ﬁﬁwlﬁm%ﬁ 0.34| 738,376
867|fEEIE |2/ BIEIREIEZ1811iHh 5k 0.17| 373,531
i
868|B4L75 (SZE/\ET@F‘%D&%% 0002(&(5) 5% 0.25| 534454
869|221Emh a/{t% b E IER 0111 (B0 )3h 5% 0.23| 500,575
870| #1388 | EALAFAISIAFE 2 E1043-0001 5% 0.14| 298,200
871|F1EE |22 EBAANEEZEZ E1043-00023 5% 0.14| 298,200
872|F1EE | LA EEAREER1788M SR (103E NS 0.38| 816,774
873|F1EE | ERAANEEAER1789M SR (103E NS 0.21| 449,106
874|EEiE |E LM BIEER 0504155 (103FE NS 0.28| 603,513
17| /\
875 | pEsssm i{t%ﬁ%ﬁﬂﬂlﬁx%%( =) 3% (LO3FE A 013 287749
AN\ /\
876|847 i){t% 2B IEREER0376(2) 5% (103 E A 017 362.890
LN\ /\
877|800 i){t% 2 b IEFZ ER0448(E) 5% (103 E A 037 796794
878|E21Emh  |EERBRECHIEIZER0484M15R(103FE NS 0.39] 846,092
879|221t a/{t% 2{Eh i R2 ER 0485 5% 0.1 208,048

8{E8%-21




EFES R ER TS

B 0 110538 12H

A EHBB M FERIME 1/ \ER0220 5%

880|&21tmh (103¢/\¢) 0.42| 904,944
881|FIXH |EACLAEANSEAM A 121 1SR (103 NS 0.52| 1,135,578
882|H1=E |[E{ L= fgzmﬁxo712ﬂﬂbﬁ(103¢/\i 0.12[ 259,734
. %ﬂﬁﬁnﬁﬁf AEX1151-000835%(103FE A 0.16| 353552
=2 Z A== 37|
884 |FnzsE Zﬁiiﬁ)ﬂlxﬁﬁﬁﬂ:ﬁx]ﬁwl 0001(ZB45) 5% (102 0.18| 388733
885|221t |E2{ERAEZETh T B ER0042(E8 7)ok 0.27| 585,271
886|fEETE |E2{LRA R BIE]EAER0030M 57 (103FE N 0.31] 668,881
887|fEEE |E{LRA R BIE]EAER0099M SR (103FE N 0.23] 507,525
888|E1bmh |E LA ETh#IAIER0584 M5 (103FE A 0.18] 395,248
889|821k a,{b% Z{Emh#I4E E2 0928 ith 5% 0.1 217,169
890|E1bmh |E bR ETh#IAIER 0929 SR (103E A 0.1 217,169
891|E1Emh [ ERE R L7265k (103 F N 0.25[ 536,843
892|E1bmh  |E2 bR EThRIMEER 172735k 0.22| 472,995
893|E1bmh  |E2 bR EhIEZ EX 05991t 5k 0.15] 315,321
894|fEEiE |22{LRARRBIERR A ER0065H 5k 0.1 217,169
895|fE B |E2{LRARRBIERRB EX0041 i 5: 0.14] 307,295
896| e /&8 ﬁ%t%%ﬁ%ﬁﬁ]ﬁ%uEﬁooz4im%ﬁ 0.21| 446,717
897|fEEIE |E2{LMARRBIERR A ER0164MH SR 0.12] 260,603
898| e /&8 ﬁ%t%%ﬁ%ﬁﬁ]ﬁ%uEﬁooeoim%ﬁ 0.27| 583,534
899|fEEIE |22{LRARRBIEIBAIER 0408 5k 0.11| 229,765
Q00| e BiE |22{LRARRBIERRALER 023015k 0.11| 233,674
Q01| EiE |22 bRARRBIERRAER02321 5k 0.15] 324,668
Q02| fEBiE |22 bRARRBIERR AL ER 02501 5k 0.13| 287,315
Q03| e BiE |22 LRARRBIERR A ER 036415k 0.19] 421,308
04| fEBiE |22 LA BIERR AL ER037 1SR 0.13| 272,547
Q05| BiE |22 bRARR BIERR AL ER 03941 5k 0.27] 591,786
906|fEBIE |E bR BiERERER0415MH 5% 0.22| 475,818
907|feBiE | ERa R BiE R ER0604 1 5% 0.2| 444,546
Q08| e EiE |22{LRARRBIERRAER 063615 0.11| 229,548
Q09| e BiE |22 LRARRBIERR AL ER 064915k 0.1 217,604
10| BiE |22{LRARRBIERR A ER06601M5: 0.17| 371,794
11| BiE |22{CRARRBIERA 0778 R 0.11| 242,361
012|fE/BiE |22 bR BIERRAERO779MM SR 0.26] 558,777
13| BiE |22{LRARRBIERRAER07821h 5k 0.11| 248,876
014|fEBiE |22{bMARRBIERRAER0788iM 5k 0.2| 423,480
15| BiE |22{LRARRBIERR AL ER 10461 5: 0.18] 394,814
16| e B |22 LA BIERRAER 10481 5: 0.24| 516,429
017|fEBiE |22 bR BIERRAER1076MM5R 0.15| 334,224
018|fEBiE |22 LA BIERRAER10921M 5k 0.12[ 260,603
19|/ BiE |22{LRARRBIERRALER 1098 5k 0.1 223,250
20| e BiE |22 LRARRBIERRALER 11035k 0.11| 234,760
Q21| BiE |22 CRARRBIERRALER 11585k 0.3] 649,119
Q22| BiE |22 LRARR B IERR AL ER1183-00013H1 5% 0.19| 408,278
023| e EiE |22 b4 BIERRALER 11835k 0.19] 408,278
Q24| fEBiE |22 CRARRBIERRALER 119215k 0.2| 433,253
25| BiE |22 LA BIERR AL ER1201-0001 3 5% 0.11| 241,058
26| e B |22 bR BIERRAER 1201 5: 0.11| 241,058
27| EIE |22 CRARRBIERR A ER 12061 5k 0.22| 469,737
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028|fEEIE |22 LRARRBIERRAER1207H 5 0.22| 469,737
029|fEBiE |22 LRARRBIERRALER 121605 0.1 217,169
930|fEEEiE |22 LA BIERRAER121 75 0.13] 289,052
O31|fEEiE |22 LA BIERRAER12361M 5 0.17| 368,971
032|fEEiE |22 LA BIERRA 12515 0.24| 516,211
033|fEEiE |22 LA BIERRA 125215k 0.14| 299,911
034|fEEiE |E2{LRARRBIERR A ER 12545k 0.14| 304,689
O35|fEEiE |22 LRARRBIERR AL ER 12555k 0.3] 652,594
036|fEEIE |E2/LRARRBIERR A ER 125915k 0.12| 257,346
37| EIE |E2{bRARRBIERRAER1290MM 5k 0.23] 505,353
038|fEEiE |22 LRARRBIERRAER1291 35 0.37| 811,127
039|fEBiE |22 LRARRBIERR AL ER 129215k 0.27| 595,044
40| fEBiE |22 LRARRBIERR AL ER 132315k 0.1 223,902
941|fEBiE |22{LRARRBIERRNSER 0567 5: 0.18] 393,076
42| 8 iE ﬁ%t%%ﬁ%ﬁﬁ%ﬁu%Eﬁ%sstﬂ%ﬁ% 0.19| 403,718
43| BiE |22 LRARRBIERRISER061 7R 0.18] 399,592
944 |fEBIE |22 LRARRBIERRISER 0784 5R 0.21| 454,970
945|fEBiE |E2{LRARRBIERRISER 07881 5k 0.32] 697,331
46| e B |22{LRARRBIERRNISER 081215k 0.19| 419,354
047|fEBiE |22{LRARRBIERRB EX0051 i 5k 0.15| 330,097
48| fEBiE |22{LRARRBIERRB EX01201 5k 0.17] 379,395
49| e BiE |22{LRARRBIERRB EX 03031 5k 0.13] 290,138
950| e/ BiE |22{LRARRBIERRB EX 03515k 0.2 431,298
O51|fEEiE |22{LRARRBIERRB EX05161H5: 0.15| 334,875
O52|fEBiE |E2{LRARRBIERR B EX 05531 5k 0.1 217,169
953| e BiE |E2{LRARRBIERR B EX 0554 5k 0.17| 378,309
054|fEBiE |E2{LRARRBIERRB EX 05761 5: 0.1 217,386
O55|fEBiE |22 LRARR BIERR B EX 06481 5k 0.16] 350,077
956| e B |22 LRARRBIERR B EX 06531 5k 0.1 209,134
O57|fEEiE |22 LRARRBIERR B EX0670-0001 355 0.11] 239,103
958| e /&8 ﬁ%t%%ﬁ%ﬁﬁ%ﬁ%ﬁﬁoewoim% 0.11] 239,103
O50|fEBiE |22 LRARRBIERRB EXO7 75 SR 0.12| 267,553
960|fEBiE |E1ERa e BiE R ER00661H 5% 0.22| 482,550
61| EiE |22{LRARRBIERRE EX00421t 5k 0.1 215,649
062| e 8iE ﬁ%t%%ﬁ%ﬁﬁ%ﬁ%ﬁﬁoo43m%ﬁ 0.1 215,649
963|fEBiE |E{LRa R BIEEE R ER0165MH 5% 0.1] 206,745
064|fEBIE |22/ BIERRAER024 7R 0.15| 325,780
065|fEEiE |22 LA BIERRALER0247-0001 3155 0.11| 242,361
066| e B |22 LR BIERR R ER0854(ER0)Hh 5k 0.11] 238,886
067|fEEIE |ECLARRBIERAE11021 R 0.14] 293,830
968|EEBIE |E LB EIEF 00715 0.34| 740,764
969|feBiE |2 LR 8 EIBAIER0372(En) i 5k 0.14| 297,956
970| e BiE |22{LRARRBIEIBAIER 04021 5k 0.19] 406,975
71| EIE |E2{ERARRBIEIBAER0404(EE 7)Mok 0.17| 361,153
72| e BiE |E2{CRARRBIERRIEER 06041 5k 0.41| 894,520
73| B |22 CRARRBIERRIEER0797 (B 7)Mok 0.13] 279,931
74| BIE |22 CRARRBIERRB ER0524 (B 7)ok 0.1] 207,180
O75|fEEiE |22 CRARRBIERR B EX1035(E 7)Mok 0.23| 507,525
76| e B |22 LRARRBIERRALER 123815k 0.24| 530,979
77|t |22 ERA4E I 401E E EX 1333 (B 7)) 5 0.2| 444,763
O78|fEBiE |22 LRARRBIERR A ER01561H 5k 0.19] 416,531
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22 R S= 1R 52 %2 F20963-00021H1 55 (104 F 7 B

979|M=iE /\,B;F/\gu) 0.19 412,956
980|FIXE | EALAEAN I AR ERO71735R 0.23| 506,656
081|#13=#E |E2{bLRANIEIEAREEER0718iH R 0.23| 506,439
982|138 |E2{ERARIETE AR EEER0860(EE 7)Mok 0.3| 644,124
983|FIXH | EALAFANSIH A ER08611T15% 0.26] 564,640
984|FIXH | EALAAANSIHA SR B 0862111517 0.4| 868,243
985|138 |E2{ERARIETE AR EEER0880(EE 7)Mok 0.12| 265,164
086|f13=#E |E2{LRANIEIE RS ER 08881 5k 0.35] 752,057
087|FIXE | EALAEANSEH A ER0901115% 0.29] 618,933
088|H13=#E |E2{LRANIEIEARZEER09161H5: 0.21| 446,934
089|#13=#E |22 bRANIEIEAREEER091 7R 0.26] 563,337
Q90| M =R Eﬂb%*ﬂ%fﬁﬁmﬁxl&%ﬁﬂ% 0.25| 533,802
901|FIXHH | EALREAN A AR ER 10341157 0.27| 581,145
Q02|18 |22 bRARNI =T RS ER 10351 5k 0.26] 570,504
993|F13E#E |E2{ERANETA RS ER1036(E70) M5k 0.15| 325,537
904|FIXHH | EALRAANSSIAA SR ER 104210157 0.23| 493,626
995|138 |22 ERANIEIE RS ER 10501 5 0.38] 829,587
996 | F1>=$8 Eﬂt%%u EIEARER1061 355 0.47| 1,016,352
997|F13E#E |E2{ERANIEIE AR ER10621M 5k 0.1 224,553
908|FIXH | EALAAANSIA AR ER 16611157 0.13| 282,320
Q99| F13E#E |22 bRANIEIEREEER171430 5 0.21| 449,323
1000|AIEFE  |BEAERAANER A ER1722(207) i8R 0.19| 415,228
1001| M= [FACRRRIE IR A TS EX1 7501 5% 0.28] 605,685
1002|FEE  |EAERRANEB ASEER1760M 58 0.28| 605,685
1003|MEE |EERANEE R E ER0844-1(E3n) it sk 0.1 217,604
1004|MEE  |EERANEE R E ER0844-2(E3 7)) itk 0.1 226,073
1005| M= [FACRRANX i85 B EX0916(H0 7)) 55 0.13| 272,765
1006 %n Sf8 B LR A= E 5 B ER09203 5% 0.21| 458,807
1007|221ETh  |BAERAE b SFANER 10523 5% 0.16] 337,288
1008(&21Eh a/{t% 2 i IE ER 049631 5% 0.26] 559,645
1009|E21ETh  |E{ERAE (b8 IZER0496-1 15k 0.26] 559,645
1010(E21Em  [EZ1ERAE2{EmE i ER0508(8B 72 it 57k 0.24| 522,075
1011|821t a/{t% 2 i IEER0607 3 5% 0.23| 504,586
1012|221ETh  |BAERAEAEEIZER06221 5% 0.18[ 397,203
1013|E21ETh  |EAERAEEHEIZER06231H 5% 0.21| 456,735
1014|821t a/{t% A i IEER 06243 5% 0.23| 502,879
1015|221ETh  |EAERAEEEIZER0625MH 5% 0.15 328,833
10163/ | E(ERAIE /O _— S5 ER03753 5% 0.28] 609,811
1017|3048 | E2(ERAIE /08 MES ER 12891 5% 0.14| 301,442
1018[1H/0#F  [EZ1ERAIE O _— S ER0441 (83 52) it 5k 0.12[ 260,603
10193#/048  [E21ERAIE 048 _ S 037315k 0.13| 276,986
1020|3048 [E2{ERAIE 048 _ S 2037615k 0.18| 400,677
1021 [$0/048 | E2ERAIE /O — 55 ER0384 (2 )it 5k 0.17| 369,188
1022 175 /AR S {CRAIR /08— 5B F2 03881 57 0.11| 245,401
1023|F01=E  |E{ERAFIE B A ER0028(23 7)1 3% 0.54| 1,161,856
1024|MEE | EAERRANER AJER0511 5% 0.19| 420,440
1025|MEE | E(ERAANER A ER05123 5% 0.19] 413,925
1026| =8 {t%%u%fﬁﬁ%ﬁﬁxoszomﬁ 0.21| 463,874
1027|MEE | BN EIE A JHER0527 #1158 0.1 209,351
1028|MEFE | EERAFNETE AT ER05281 5% 0.18| 380,698
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1029| M= [FEACRAFN X IR A JHE EX0530 1 5% 0.13| 292,744
1030|MEFE  |E LA =18 AT 05321 5% 0.28] 610,463
1031|MIEE  |EERAFNE B AT ER0544 3158 0.1 221,078
1032|MEFE | BRI =18 A M ER0553 1 5% 0.18| 400,243
1033| M= [FEACRAHN X SR A JE EXO555 1 5% 0.2| 434,339
1034|MEFE | B LA =18 AT ER0556 1 5% 0.17] 363,759
1035|MEFE  |EERAANEE AT ER0621 158 0.24| 514,691
1036|MEE |EERAFNETE AT ER062511 5% 0.21| 458,444
1037| M= [FACRAFNIE IR AT EX0633 1 5% 0.24| 519,252
1038|MEFE |ELRAFNEIE AT ER06421 5% 0.2 432,818
1039|FNEE  |EERAFIEE R ER0657H SR 0.26] 563,989
1040|MEFE | BRI =18 AT ER0658 1 5% 0.26] 563,772
1041 | M= [FEACRRRN X IR AT EX0659(H 7)) Hh 55t 0.26] 569,418
1042|MEE | BERAFN =18 A JH ER0659(E 7)) ith 5k 0.21| 465,394
1043|MEE | EERAFN =18 AT ER0668(E8 7)) it 5k 0.15| 327,491
1044|F13=i8 ﬁ%t%%u%fﬁﬂﬁﬁxoaagﬂsﬁ 0.34| 742,936
1045| M= [FACRARNIE R AT EX0670 M 5% 0.14| 297,522
1046|F13=i8 ﬁ%t%%u‘ B A FER067 13 5% 0.14| 297,739
1047|MEE  |BEAERAFNETE AT ER0676(20 7))t 5k 0.1 216,518
1048|MEFE  |EERAFNETE AT ER0679(E8 ) it 5k 0.1 224,553
1049| M= [FLACRARNE IR A T EX0681 i 5% 0.16] 349,425
1050| #1138 ﬁ%t%%u%ﬁﬂ&ﬁﬁoaezﬂ% 0.18] 385,041
1051|MIEE | BRI E T8 AT ER06921 5% 0.27] 589,615
1052|MEE | BRI EE AT ERO710 5% 0.16] 342,259
1053| M= [FACRRRIE IR A ER0711 M 5% 0.17| 366,799
1054|MEE  |EAERRANEE ATEER0716M 58 0.29] 626,968
1055| #1138 ﬁ%t%%u%ﬁﬂﬁ%7zoiﬂ%ﬁ 0.35] 759,658
1056|MEE  |E(ERAANER AJER0773HI5E 0.39] 836,970
1057 | M= AR X B AT EX0780(H 7)) 5 0.13| 278,194
1058| M=  |E LA ETE A JHEER083 15k 0.21| 458,227
1059| F13= 8 Eﬂt%%u = $8 A Jf ER0846(2( )i 5% 0.14] 293,830
1060|MEE  |E(ERAFNETE AT ER084 7 5% 0.1 211,306
1061 %n‘i—fﬁ 821{ERA& A =18 X EX 0866t 5k 0.36] 787,456
1062|MEE  |EERAANEE AJEER087 1 5E 0.36] 787,456
1063|MEE  |EERAFNEE A JHER0874M 5% 0.3] 661,932
1064| M= [FEACRAAN X B A T EZ087 51 5% 0.18[ 384,390
1065|MEE | E{ERAFN =18 A JH ER0885 1T 5k 0.32[ 691,033
1066|MEE |E{ERAFNETE AT ER08961H 5% 0.19] 403,283
1067|F13=iE Eﬂt%%u = 8 A JfEER0897 (2 7) i 5% 0.16] 353,334
1068| =18 {t%%u%fﬁjﬁb}ﬁﬁxogwi&sﬁ 0.27| 592,872
1069|MEE  |E(ERAFNER ATER0914 5% 0.27] 575,933
1070|M1EE  |E(ERAANEE AFER091 7 5% 0.27| 581,145
1071|AIEE | E(ERAANEE AJER09193 5% 0.33| 712,315
1072| /03588 |SZAEREANSS 68 A HEER 0920 (FR 47) 1 577 0.17| 359,632
1073|F0=E  |E{ERAFIEE A ER0921 (23 10) M3k 0.32| 702,543
1074|MEE | E(ERAFNETE AJHER09221 5% 0.2 432,601
1075|MEE  |EERRANER AJER0927 #1558 0.23| 497,752
1076|MEE |E(ERANEEREHER1138 (Bi7n)iHh sk 0.31| 674,962
17|
1077|8475 iﬂjgﬁ% 221 32 B o] 35/])\ER0038-0002 (26 77) 011| 238235
1078|E21ETh  |EERAE b AnZ ER0859i 5k 0.19| 416,531

82{E8%-25



EFES R ER TS

B 0 110538 12H

1079|MEFE | EERAFNEEIH 1T ER0892(E8 7)) it 5k 0.18] 384,607
1080| #1138 | E21LRAAN = A AR 2 1350-0007 3 557 0.38] 814,385
1081| M= [FLACRAFIE IR FIEX0547 M 5% 0.17| 370,056
1082|MEFE | BEERAFN =18 K EE ER0008(E 7)) ith 5k 0.14| 296,436
1083|MEFE |ELRAANEE AEKR02191 58 0.28] 608,291
1084| M= |[FLACRAFNIE IR A ER EX0293 1 5% 0.14] 310,552
1085| M= |FLACRAFNX RN EE EX0336(H0 7))t 55t 0.29] 632,831
1086|MEE |EERAANEEMEEER0821 (7))t 5k 0.24] 531,196
1087|MEFE |ELRAANEEANEEER0824 5% 0.14] 294,916
1088| M= |FZ{ERAHN X RAN £+ EX0835-0002(Ef 7)1l 17 0.21| 461,050
1089|MEFE | ERAFN =B AN L ER0844 (28 7)) it 5k 0.14| 296,436
1090|MIEFE | BEERAFN =B AN EE ER0848(EE ) it 5k 0.13| 283,840
1091|A1EFE  |EERAANEEANEF ER0848-0001 (B 72) 3 5% 0.11| 242,144
1092| M= |FEACRERN X RN EE EX0029(E 7)) Hh 55t 0.17| 361,587
1093|MEFE  |E(ERAFNE A AN EEER0935(E )it 5k 0.24| 510,348
1094|MEE  |EERAANEE A EEER0937 (2 7))t 5k 0.22| 488,197
1095| M= [FLACRARNE 8RR  FR0208-0002(FR 77 ) ith 5% 0.27| 596,347
1096|MEFE  |EERAANEER T FER0212-0004 (38 77) 3 5% 0.24] 511,651
1097| #1138 Eﬂt%%u = SE T F ER0222(2 ) 5% 0.21| 457,793
1098|MEFE  |E LA ETE R 55 ER00103M 5% 0.2| 425,000
1099| M= [FLAEREHN X $R:47 88 EX0026 1 5 0.12] 256,911
1100|F13=8 ﬁ%t%%u%ﬁ%ﬁﬁéﬁﬁoosﬁm%ﬁ 0.15] 332,921
1101|AIEE  |EERAFNETE 5 B ER03681H 5% 0.12| 257,780
1102| =X  [FEACRAHNE iR B EX0180 1 5% 0.18[ 399,809
1103|MIEE  |EERAANEIE R B 01963 5% 0.21| 459,965
1104|MEFE  |EERAFNETE R B ER03661H1 5% 0.13| 272,113
1105|MEE  |EERAANEER B ER0367H15E 0.37| 806,784
1106| M= [FEAEREAN X iR ¢ EX0196 (B0 77) 55 0.17[ 365,279
1107|MIEE  |EERRANEE R B ER0197-0001 (B8 7)1 5% 0.21| 451,712
1108|H1EHE Eﬂt%%u = SRR ER0199(E( ) il 5% 0.15[ 318,153
1109| M=  [FLAEREHN X SR04 i EX0524 1t 5% 0.14] 295,133
1110|F13=E ﬁ%t%%ﬂ%ﬁ%ﬁﬁ%ﬁﬁo525m%ﬁ 0.15| 324,451
1111|F0EE (bR AEEM 05281t 5k 0.17| 359,632
1112|MEFE | BN E TR B ER0532(E8 ) it 5k 0.22| 479,944
1113[MEE (B ERBRA =B 0533 (8877 ith 57k 0.16] 354,637
1114|358 /0%8 |E(ERAE /O %8 _— S ER037415% 0.15| 328,942
1115|3040 ﬁz{t%ﬁ/b?ﬂﬂiéﬁﬁosmi&%ﬁ 0.27| 578,142
1116|M=XH [FACRRAIE B A TS E1682-0001 5% 0.12| 267,118
1117|F13=E Eﬂt%%u =SB A ZEER1518H15E (104N 0.13| 281,017
1118(MEE  [E BB A ER1558M5R(104F N 0.24| 515,126
N LN\ /\
1110|515 i){t% E2{Em A ER0323(E) 5% (104 FE A 0.44| 950229
1120(&1bm  [E bR E M EE R0140M5R(104F N 0.18[ 385,910
1121|821t a/ﬂ:?% ZAETh 82 E5 01893t 5% 0.26] 572,241
1122|821ETh  |EAERAEAEm & L ER0190M1 5t 0.36] 774,209
1123[&1bm  [E1ERREEmEE ER0192(847) it 5% 0.33[ 707,538
1124|821t a/ﬂ:?% ZAETh 82 EZ 01853 5% 0.22| 475,166
1125|821ETh  |EAERAE b B HER0187 5k 0.14| 305,123
1126|221ETh  |EAERAE b & ER01881 5k 0.14| 305,123
1127|821t a/{t% ZAETh 82 L EZ 0154 3 5% 0.18| 380,481
1128[&1bm  [EZ{ERREEmE L ER0153(847) it 5% 0.14| 307,729
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1129|221ETh  |EAERAE b & EER01551 5% 0.1 219,124
1130|E21ETh  |BAERREAEHEBIZER101415% 0.26] 571,503
1131|221ETh  |BAERAEEEIZER09651H 5k 0.2 436,324
1132|221ETh  |BAERREAEHEIZ 10294 5% 0.16] 337,579
1133|E21ETh  |BAERAEEEIZER09921t 5% 0.11| 247,829
1134|221ETh  |BAERREAEHEIZER10281H 5% 0.1] 207,614
1135|E1Emh  |E R Em IR ER0993(E0 7)) 5% 0.31] 667,361
1136|221ETh  |EAERAEAEHEIZER 1200358 0.15] 318,068
1137|221ETh  |BAERAEAEH S FAIER04 721 5% 0.12| 265,557
1138|E21ETh  |BAERAEAE FAIER0471(EE )it 5k 0.2 425,652
1139|E21ETh  |BAERAEAE S FANER04 7031 5% 0.16] 355,743
1140|221ETh  |BAERAEE AN ER0364 11 5% 0.1 209,699
1141|221ETh  |BAERAEEH AN ER036511 5% 0.18] 399,961
1142|221ETh  |BAERAEAE A1 ER03661H 5% 0.19| 421,771
1143|221ETh  |BAERAEAEH AN ER0395(E )it 5k 0.24| 520,555
1144|221ETh  |BAERAEAEM AN ER0392(E8 ) it 5k 0.2 424,783
1145| M= [FACRRAIE IR A B E2516MH 5% 0.14| 312,724
1146|MEE |EERRANEE AEKR2521H158 0.2 428,692
1147|MEE  |EAERRANEE AE 25221158 0.14] 303,820
1148|MEE |EERAFNETE A ER2507H158 0.15] 331,400
1149| M= |FAACRARN X IR A BE EX2205 1 5% 0.14| 312,507
1150|MEFE  |EERRANETE A ER2297H5E 0.22| 481,030
1151|MEE  |EERRANETE A ER22641H1 58 0.15] 331,618
1162| M= |FACRRRI X IR A BE EX2267 1 5% 0.21| 460,182
1153|MEE |EERRANEE AER22791158 0.12| 264,947
1154|MEE  |EERRANEB AER22781H15E 0.12| 264,729
1155|MEE  |E(ERAFNETE AE 2269158 0.23| 497,101
11656| M= [FACRRAIX B A B E2270M 5% 0.13] 290,790
1157|MEE  |EERBRANEB ARER22741158 0.29] 639,129
1158|MEE |ELRAANEE AEKR22751158 0.3] 641,735
11659|M=EHH  [FAACRAANI X IR A B E2224 1 5% 0.3] 658,240
1160|MEE |E(LRAANER AER22341158 0.11| 247,356
1161|MEE |E(ERRANEE AFEKR21861H15E 0.12| 249,745
1162|MEE  |E(ERAFNETE AFEER2185MH158 0.28[ 603,513
1163|M=EiH  [FACRRAIX B A B E2184 157 0.25| 538,580
1164|M=EE |E(ERBRANEB AER2175M158 0.36] 773,557
1165|MEE |E(ERAFNEE AEER20321 58 0.12] 269,073
1166 %n‘i—fﬁ BRI ETE R EEER 21043 57 0.22| 481,464
1167|M=EE |E(ERRANEE AEKR23261H158 0.28| 605,685
1168|M=EE |E(LRAFNEE AFEKR23281H158 0.18] 391,339
1169|MEE |E(ERRANER AFE 23251158 0.39] 852,607
1170| =48 {I:%%u;%fﬁjtﬁﬁxzssoimsﬁ 0.27| 586,357
1171|FEE | E(ERRANEE AFE 2329458 0.11| 246,270
1172|MEE | EERRANEE AFE 232358 0.23| 504,050
1173| =18 {I:%%u;%fﬁjtﬁﬁxzszzimsﬁ 0.15] 333,138
1174|MEE  |E(ERRANEB AEKR2331iH5E 0.24| 522,292
1175|MEE  |E(ERRANER AE 2332158 0.18| 401,329
1176|MEE |E(ERRANEE AFE 2320458 0.27] 591,786
1177|M=i8 {t%%u%fﬁﬁﬁﬁxzswiﬂﬁ 0.28] 602,645
1178|MEE  |E(ERAFNETE A 2340358 0.28] 606,120
1179|MEE  |EERRANEB AE 1769158 0.13] 290,790
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1180| M= [FLACRAFIE IR A B EX1768 5% 0.36] 788,542
1181|F1EiE | EALRAMEBEAEER1817HI5% 0.21| 459,747
1182| #1388 | B LA EIE AE 17653 5% 0.44] 959,888
1183|MEFE |ELRAANEE AE 1805115 0.12| 270,159
1184| M= |[FE{CRAFIX IR A B EX1807 M 5% 0.13| 291,007
1185|F1EiE | E (LA ETE A X 18503 5% 0.27| 583,317
1186|MEE |E(LRAANEE AER18431H15k 0.22| 486,242
1187| M= [FACRAFIX IR A S EX0520 3 5% 0.3] 651,508
1188|MEFE |ELRAANEE AZEER05193 58 0.17| 361,804
1189|MEFE |EERRANEE AZEER05163H 58 0.25| 540,100
1190| #1138 ’{I:%%u;—‘—éfﬁj:;‘ﬁﬁxoslsim%ﬁ 0.21| 450,409
1191|MIEFE  |EERRANEE AZEER05141H1 5% 0.43| 934,479
1192|MEFE  |EERRANEE AZEER05121 58 0.12| 259,952
1193|F1=E ’ﬂ:?%%u;—‘—éfﬁjz;ﬁﬁxosllimsﬁ 0.17| 375,486
1194|MEE  |E(ERRANETE AZEER05033H 5% 0.42| 902,990
1195|MEFE  |EERAFNETE A SR ER0495MH 5% 0.14| 294,264
1196|MEE |EERAFNEE AZEER0494 1 5% 0.13| 273,633
1197|MEE  |EERRANEE ASEER04A57HSE 0.12| 264,512
1198|MEFE |EERAANEE AZEER03621H 58 0.17| 374,834
1199|MEFE  |[E(ERERANEE AZEER0326-11H57 0.15] 334,006
1200|MEFE  |[E{ERRANEIE AZEER0325-13H557 0.21| 464,091
1201|AIEE  |EERRANETE ASEER03143H1 5% 0.25| 542,489
1202|MEE | EAERRANEE AZEER02701 58 0.17| 375,486
1203|MEE  |EERRANEE AZEER01381H 5% 0.18] 385,693
1204|MEE | EERRANEE AZEER01393 5% 0.2| 434,339
1205|MEE  |EERRANEE AZEER0207 158 0.43] 928,399
1206|MEE  |EERANEE AR 15055 0.13| 279,280
1207|MEE | BRI ETE AZEER00961H 5% 0.15] 321,193
1208|MEFE | BRI =18 A EE ER06551H 5% 0.25| 537,494
1209|MEFE | BRI =18 A EE ER06563H 5% 0.25| 537,277
1210|MEE  |E(ERAANETE AE 065715 0.22| 472,995
1211|FMEE  |E(ERRANEE AEER0910M 58 0.25| 534,454
1212|MEE  |E(ERAANETE AEER091631 58 0.17| 358,981
1213|MEE  |E(ERRANETE AEER0915M 58 0.16] 347,037
1214|MEE  |E{EEANEE AEEER0905-1 157 0.17| 366,799
1215|MEE  |E LA =18 A EE ER09053H 5% 0.17| 366,799
1216|MEE |E(ERRFNEE AFE 0816158 0.17| 367,885
1217|MEE  |E(ERRANEE AEER0817HISE 0.2 443,460
1218|MEE |E(ERBRANEB AERI7T14M5E 0.23| 498,186
1219|F13=E ﬂ:?ﬁu%fﬁﬁ = EZ 1733355 0.13| 285,795
1220|MEE | EERRANEB AE 1702158 0.4 866,940
1221|MEFE | EERAANEBE A ER1704M 5% 0.25| 549,655
1222| #1138 {I:%%u;%fﬁjtﬁléxl?osimsﬁ 0.37| 806,350
1223|MEE | E(ERRANEE AFEER1681iH5E 0.24| 520,338
1224|MEE | E(ERAANETE A ER1653MH58 0.36] 776,597
1225|F13=i8 {I:%%u;%fﬁjtﬁﬁxlagmmsﬁ 0.26] 565,943
1226|MEE  |E(ERRANER AFE 16444158 0.36] 773,557
1227|MEE | EERRANEE AR 1695358 0.37| 803,526
1228|MEE  |EERAANEIBE AFEER16421158 0.27] 595,913
1229| F13=i8 t?%*ﬂ?fﬁﬁgﬁﬁxlmﬁﬂﬁ 0.26] 566,160
1230|MEE  |EERRANEB AE 16121158 0.26] 566,160
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1231| M= [FACRRAIE IR AR ER1611MH5E 0.3] 648,033
1232|188 | B LA EE AE 1610455 0.14] 308,598
1233|188 | B LA EIE AR R 159434 5% 0.3] 655,634
1234|MEE  |EERRANEE AEKR16361H5E 0.2 427,606
1235| M= [FEACRAAIE IR A B B 1635 5% 0.11| 229,114
1236|F1EE  |E{ERAFIE1E KEEER 15855k 0.29] 639,998
1237|221ETh  |BAERAEEh AR R ER03 154 5% 0.47| 1,013,733
1238|E21ETh  |BEERAE b AR R ER06201 5% 0.24| 520,772
1239|21ETh  |BAERAE b AR R ER0891 it 5% 0.32] 689,947
1240|221ETh  |BAERAEE AR BB ER084 7 5% 0.23| 490,151
1241|221ETh  |BAERAE b AR BB ER08521t 5% 0.11| 229,702
1242|821ETh  |BAERAE AR ER0187 5% 0.13| 282,537
1243|821ETh  |BAERAE b AR BB ER01853 5% 0.39] 851,304
1244|821ETh  |BAERREAEh S F R 3 F/)\ER146-1153 5% 0.14| 298,825
1245|821ETh  |BAERREAETh B F R B F/)\ER 145-331 5% 0.26] 557,691
1246|221ETh  |BAERREAEH R F R B F/)\ER 148-531 5% 0.13| 287,098
1247|221ETh  |BAERREAE R F R B F/)\ER 154-631 5% 0.1 227,159
1248|MEE  |EALRBRANEE R E 0228158 0.1 209,564
1249|MEE  |EERBRANEERZE 0198158 0.1 212,863
1250|MEE  |EAERBANEERE 022715 0.1 212,746
1251|MEE  |EERANEEREE 0235158 0.58| 1,251,525
1252|MEE | EAEBANEEZE 023158 0.1 224,701
1253|MEE  |EEBRANEEREE 02461158 0.11] 238,235
1254|MEE  |EAEBRANEERZE 047215 0.33] 715,260
1255| /=8 |E{EEANEE = E ER0504-11 57 0.27| 576,584
1256|MEE  |E{EEANEE = E ER0504-21 557 0.3] 660,668
1257|MEE  |EAERRANEE AE 1603358 0.2 424,132
1258|MEE  |EERAFNEE A= 156611158 0.24| 518,383
1259|MEE  |EERRANEB AZ 15675 0.24| 518,383
1260|MEE  |E(ERAFNEE A 158358 0.1 213,260
1261|MEE  |EERANEE AE ER1583-11H55k 0.1] 213,260
1262|MEE | EERRANETE A= ER15881H 5% 0.48| 1,046,973
1263|MEE |E(EBRANEEBE AZERIS75M5E 0.1] 219,558
1264|MEE  |E(EBRANEEBE AZERIS74M5E 0.14| 297,739
1265|MEE  |E(ERRANEE A ER1560H58 0.19| 417,182
1266|138 ﬁz{ ERARIETE R = B 1541 3t 5k 0.2| 443,460
1267|MEE  |E(ERANEE AFE 15391158 0.22| 475,384
1268|MEE |EERAANEE AZEER0031iH5E 0.28[ 600,039
1269|MEE  |EERAFNEE AZEER0024 5% 0.17| 377,657
1270|F13=8 {t$?7ﬁ[|$i§7(m520024 13035 0.12] 260,820
1271|MEE | EERRANEE A ER15003 58 0.23| 495,798
1272|MEE | EAERRANEB AZ 1501158 0.17| 377,875
1273|F13=i8 ﬂ:?ﬁu%fﬁﬁfﬁxlsozimsﬁ 0.29| 629,791
1274|MEE | EAERRANEBE AZE 1503358 0.23| 493,409
1275|018  [E{EBRAIEE RE 1504115k 0.34| 747,714
1276|F13=i8 ’{ t?%%n%fﬁﬁ?ﬁxmszﬂﬂﬁ 0.22| 476,469
1277|MEE | EAEBANEB AZ 148115 0.3] 657,806
1278|MEE | EERRANEIE A 150558 0.22| 477,338
1279|MEE  |EAERBANEB AZER1447H5E 0.16] 339,001
1280| F13=i8 %t?%%u%iﬁﬁ?&144ai1ﬂﬁ 0.15| 330,749
1281|MEE  |EERRANEB AZ 1436158 0.23| 491,671
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1282|138 ’{t$%$u;%f,§7<?£x1435ﬂﬂsﬁ 0.38] 823,289
1283|MEE  |EALRRANEB ANFZ 14421158 0.13| 280,800
1284|188 | B LRARMETE AE ER06033 5% 0.3 646,296
1285|MEE | LA =18 A EE ER06051H 5% 0.3] 654,983
1286| M= [FL{CRAFIE IR A B E0574 1 5% 0.28] 603,731
1287|F1EiE | B LRARMEIE AE 0974455 0.17| 370,925
1288|MEFE |ELRAANEE AER0977HISE 0.16] 346,385
1289| M= |FACRAFIE IR A B ER0977- 13155 0.15| 322,714
1290| #1388 | EALRARMEE AE 10193 5% 0.34| 732,512
1291|MEFE  |EERAANETE AE 0979 5% 0.36] 782,678
1292| M= [FE{CRAFNX IR A BS E0083 M 5% 0.2 440,637
1293|188 | B LA ETE A ER0981 3 5% 0.11| 244,533
1294|F13E8E | B (LR E A AR ER 0984 3 5% 0.23| 499,272
1295|MEFE  |EERAANEE AER1007H#5E 0.28] 600,256
1296|MEFE  |EERAFNETE AEER1009H 58 0.17| 377,440
1297| M= [E(ERRANEE AER1011-21 5 0.28| 608,074
1298|MEFE  |EAERRANEB AERI011MSE 0.15] 333,572
1299|MEFE  |[E(ERRANEE AERI1011-15E 0.12| 250,179
1300|MEE  |EERRANEE AE 1010458 0.15] 320,759
1301|AIEE  |E (LA ETE AEE ER09651H 5% 0.26] 564,423
1302|MEFE  |E LA ETE AEE ER0964 1 5% 0.26] 564,206
1303|MEE  |EERAFNETE AEE ER09281H 5% 0.28] 603,296
1304|MEFE  |EERAANETE AFEER0931iH 58 0.2 442,591
1305|MEFE  |E LA =18 AEE ER0930MH 5% 0.2 442,374
1306|MEE |E{ERAANEIE AEEER0933-21H 5k 0.16] 345,082
1307|MEE  |E{ERAANEIE AEEER0933-31i 55k 0.16] 345,082
1308| M= BB ETE AEEER0933-41 557 0.13| 271,462
1309|MEFE | EERAFN =18 A EE ER0959 1 5% 0.39] 853,041
1310|MEE  |E (LA ETE AEE ER0958 1 5% 0.39] 853,041
1311|AEE  |E(ERRANEE AE 103631158 0.22| 476,469
1312|MEE  |[E(EERANEE AEER1036-11H55E 0.14| 304,037
1313|MEE  |EERRANEE AE 1029158 0.11] 238,886
1314|MEE  |E(ERRANEE AER10281H158 0.27] 589,615
1315|MEE  |E(ERAFNETE AEER05421 5% 0.21| 451,495
1316|MEE |E(LRAFNETE AE 0543158 0.22| 471,909
1317|MEE  |E(ERAFNETE AE ER0544 11158 0.24| 528,373
1318|MEFE |E(ERAFNETE AEEER05481H 5% 0.13| 279,714
1319|MEE |E(ERAFNETE AFEER0551 M58 0.14| 305,340
1320|MEFE | BRI =18 A EE ERO5551 5% 0.34| 739,244
1321|F13=E ﬂ:?ﬁu%fﬁﬁ = EZ05301h 55 0.23| 498,404
1322|MEE | BRI ETE A ER0534 5% 0.17| 369,622
1323|MEE  |E(ERAFNETE A ER05361H1 58 0.17| 359,198
1324|F13=i8 ﬂ:?ﬁu%fﬁﬁﬁﬁxosssiﬂﬁ 0.14] 303,168
1325|MEE  |EERRANEB AEER1067H5E 0.21| 456,056
1326|MEE |E(ERRANEB AE 1063358 0.36] 780,289
1327|F13=i8 ﬂ:?ﬁu%fﬁﬁﬁﬁxlosziﬂﬁ 0.21| 458,662
1328|M=EFE  |E(ERAANEIE AFEER1083MH 5% 0.21| 458,662
1329|MEE  |EERRANEB AER1131M5E 0.3] 659,543
1330|MEE |EERRANEB AER1137H5E 0.34| 730,123
1331|F13=iE {t%%u%fﬁﬁﬁﬁxomomﬁ 0.23| 492,540
1332|MEE  |E(ERRANEB AE 05115k 0.17| 376,137
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1333|MEE |EERAANEE AEER0497 Sk 0.12| 263,426
1334|MEE |EERAFNETE A ER04981H 5% 0.1 218,038
1335| M= [FE{CRAFNX IR A B EX0490 1 5% 0.17] 365,930
1336|MEE |EEERANEE AER11661H5E 0.22| 476,035
1337|MEE  |EERRANEE AT ER03321 58 0.16] 350,946
1338| M= [FL{CRAFNE IR AT EX0355 1 5% 0.17| 370,708
1339| M= [FAACRARNE IR AT EX0357 M 5% 0.11] 228,028
1340|MEE |EERRANEE AER1783MH5E 0.12| 264,729
1341|MEE |EERBRANEB AEKR21443H158 0.15| 324,234
1342| M= [FEAERAHNX IR A B8 EX0060 M 5% 0.21| 454,753
1343|MEE  |EERRANEE AEER0961 M58 0.15] 329,011
1344|MEE  |EERRANEE AER162915E 0.11] 238,018
1345|&1Emh a,{b% ZEh R EAF ER PR EA 1/ )\E% 156-44 3 55 0.15] 316,633
1346| M= |[FE{CRARNX IR A BE EX2324 1 5% 0.25| 536,408
1347|MEE  |EAERBANEBE AZEER01421158 0.19] 402,632
a/ﬂ:%% AEmh AR FER R/ \ER0174-
1348|&1EmM  [0010(BB )it SR (L04FAE) (REA R FER AR F 0.11| 234,977
/J\Ex0174 000415 )
EEREEMARFERAZRF/\ER0174-
1349|&21Em 0011(ﬁB NIESR(L04FE A E)(RARFEAE T 0.18| 391,773
/NEZ0174-00041#15% )
1350|858 |E2{bRa e 8 iR ]8 AN EX0094-0000 1t 5t 0.21| 463,656
1351 | EoaeE %ﬂ:%%ﬁ%ﬁﬁﬂﬁE§0926-00001ﬂ11'3')7%(104$® 021 456056
. %ﬂ:%)ﬁ%ﬁﬁ%}ﬁEﬁows-ooootﬁ%ﬁam&@ 0.26| 569201
1353| pzem ?j;b%%ﬁﬁﬁﬁEﬁlzgz-ooooitb%ﬁ(lmiﬁ 0.16| 350,728
1354| B eE %t%)ﬁ%ﬁéﬁiﬁ591296-00001111%(104&@ 0.16| 350728
1355| g sn ﬂ;ﬂ:%%ﬁ%ﬁﬁEﬂﬁx05l4-0001iﬁﬁﬁ(104¢@ 0.13| 279369
i
1356|215 (1352/&%@%5&0533 0012(&R5)Hh 5% 018 396117
= =
1357|8/1kbh j;gﬁiﬁﬁiz)@ S BP 557 /1N 0173000458 028 612,635
= =
1358|E1LTH j;gﬁiﬁﬁiz)@ 5 RS/ 0226-00085 025 552,262
= =
1359|E1LTH j;gﬁiﬁﬁizﬁ 5 RES T/ 0226-00095 031| 666710
1360|M=EE |E{EAFNE1E AEEER1826-00001 55k 0.27| 589,180
1361|888 |[E{LRafE 8IERRNEER0113-000135% 0.11| 243,512
1362|fE B A E%I:%EEE%EEEEu,%Eﬁozss-ooooim%;ﬁ 0.26] 568,332
1363|888 |E{LRafE AR IER 1436315k 0.2| 425,217
1364|818 |[E{ER4fE 8 IERRNEER0925-00003 5% 0.13| 278,845
1365|818 |[E{ER4fE 8 IERRNEER1259-00003 5% 0.16] 344,431
1366|818 |[E{ER4fE 8 IERRNEER1260-00003 5% 0.22| 480,596
1367|fE B E%I:%%EEE%%EEEﬂ%EﬁlZG&OOOOﬂﬂ?ﬁ% 0.1] 218,907
1368| R BE |E (LA R 8 iEREIEER1273-00001H 55k 0.28] 612,852
1369|fRBE |E{EA e 8 Ak ELEX1279-0000(E1 7)) 5% 0.25| 541,162
1370| R BiE |E{LRA e B8 fEIE ER1463-00001H 55t 0.15] 332,921

82{E8%-31




EFES R ER TS

B 0 110538 12H

1371|EEIE | B LRARE B A RENS ERX1467-00003 55 0.27| 588,746
1372|EBIE | B LR4RE B 1A RENS B 1479-00003 5% 0.32] 689,295
1373|EBIE | B LR4RE B A NS EX1510-0001 3 55 0.11| 231,285
1374|EBIE | B2 LR4RE B 1A NS B 1723-00003 557 0.21| 463,656
1375|EBiE | B LR4RE B 1A NS B 1724-00003 55 0.19] 406,975
1376|EBIE | LR4RE B A RENS ER1726-00003 55 0.28] 609,594
1377|161840 | B (LR B 40 ] £ E20173-00001 55 0.33| 716,876
1378|761E240 | B LR ICIE A =R EX0071-00001 55 0.14| 314,676
1379|fEBIE |E{bRA R B 1R K% ER0364-0000(E8 7)1 5% 0.1 223,687
1380| e BiE | E21LR4RE B 1E K L ER0365-00003 55 0.19| 412,622
1381|EBiE | LRARE B IE KL ER1045-00003 55 0.19| 412,622
1382|fE B8 |E LA BRIk ELER1737-0000(E8 72) 3 5% 0.17] 362,099
1383|EEIE | LR4RE B iR IR IELER2993-00003 55 0.23| 491,020
1384|EBiE | LR4RE B iEIRIELER 2994-00003 55 0.2| 434,339
1385|818 |E{bRa e B iEREIEEXR1510-00021H 5t 0.11| 231,285
#a% 329.66
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[ 2 Q74N
B |BETE e HE(AE) E'(”T_fﬁﬁ
1|KF& |KPEXEERI58ME 0.21
2| K& | KEBPEKISER1923 5% 0.73
|REFER | KB&EKSER125M5E 2 B £ i 0.42
AlKEE | KBP&KEERL12635E 2B 11 0.35
5| KR | KB&EXESER103H5E; 0.24
6| K& | KEBPEKISER108H 5% 0.28
7|KB& | KBEKEER1215E 0.33
8| K& |KEBPEKISER178HIE 0.35
9| K& |KEEKISERT3HIE 0.67
10| K& | KRFPEXEER101H55E 0.23
11| KEFE | KRPEXEER102:H557 0.22
12| KEFER | KRPEXEERL122:55R 0.5
13| KF&E [KRFEXKEERI3LME 0.22
14| KBP& [KRFEXKEERISTHIE 0.25
15| KFE [ KPe&HZER—_ /L5 0.34
16| KF& [KFBZEER—=—I1M5 0.27 -
17| KB& [KRFEEN 448355 0.17| 810,975
18| KB& [KRFE/EN 46555 0.12| 270,365
19| K& |[KPEEZER1047H55: 0.13] 292,896
20[ K& |KBEEZER1043:H55% 0.23| 518,200
21| K& | KBEEEZERS27H5R 0.3] 325,975
22| KEB& | KBEEEZERIISHISR 0.12] 130,390
23| K& | KBEEEZERII6HSE 0.14| 152,121
4| K& | KBEEZERI97IHISR 0.29] 315,109
25| K& | AKBEEZER1004H 557 0.22| 239,048
26| K& |AKBEEZERI1016MH55: 0.16] 173,853
27| KB& |KBEEZE1036MH 55 0.18] 195,585
28| K& |AKBEEZER1053H 55 0.2 217,316
29| K& |KBEEZER1256M55: 0.2 217,316
0| KEE |[AKE&EPHEE492iH5% 0.1 550,474
31| KEE |[AKE&EPHEE526H5E 0.1 550,474
P2 KREE |[KE&EPHEES27H5E 0.1 550,474
B[ KREE |[KEE{IHER1443H15% 1.07| 1,200,345
4| KEE |KEE{CER1447H5R 0.16] 292,480
BIAREE |[KEE{CEER1448H557 1 it 0.35] 392,636
36| KEE |[AKEE{CEER1450H55% 0.54| 605,781
7| RER | KREEBEEEKRLI72-2(E7)H 55k 0.12[ 660,569
38|EERER |FEEABEERS6ED) 0.26| 1,024,586
|EEER |EEEHILERS56(27)iH 5k 0.27| 132,383
A0|EEE |EFEEEHILER360iM5E 0.11 53,034
A1EEE |FEEHILER377H5E 0.14 68,643
R2EEE |EFEEHILER359iM 5% 0.11 53,034
A3|EEE |FEEEREHEER0384-0000t 5% 0.25| 280,454
44|[FE& |FEEEREHEER0388-00001t 5% 0.37| 415,072
A5|EEE |FEEHILER338i 5% 0.2| 223,529
46|EEER |FEEILER777HSE 0.34| 380,000
A7\EEE |FEEEHILER779H5E 0.38] 426,291
A8|EE & |FEEEILER781M5E 0.32| 358,982
OEEE |[FEEHILER784H5E 0.16] 179,491
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50|/5ER |EEEBILER78635E 0.2| 224,363
51|FEE |[mEEELER1003i# 58 0.25| 153,040
52| EE |mEEE 10044 58 0.3 183,648
53|FEE |mEEEER1005M 58 0.49] 299,958
54|FEE |mEEEERI0144M58 0.57| 348,931
55| & |mEEEER1158iH 58 0.2 122,432
56[mEE |[mEEELEERI1164H5R 0.16 97,945
57\5HE& |EHERREER121-5(3357)it 5k 0.12[ 274,738
58|EHE |[EHEILEERA450M5E 0.12| 129,682
59[t8fd& [t & = B FER265-2i5% 0.72| 1,316,162
60| fBfd & | tpRlE = A F ER53-4(E ) M5k 0.18] 329,041
61|t E |tPRE =B ER67-0i 5k 0.22| 402,161
e2[EF& [EFEAXEERAHE/NER178ME 0.58| 1,060,242
63|2/R& |EREMHEGERS1ME 0.19| 213,145
64|FZlERE |BEERER43-233(E D) 0.1 443,102
65|FZlEE |BERZER43-36(337)H 5k 0.23[ 1,019,135
66|FZlEE |BERZER43-75(57)H5RE 0.15 664,653
67|FZlER |BEERZER43-30(337)H 5k 0.15] 664,653
68|FZlElR |FERRER43-82(537)iH5k 0.23[ 1,019,135
69[FEEE |[FlIEEZEERA3-851H5% 0.11] 247,835
70[FE e |[BlIEEZEERA3-57H5% 0.25| 572,370
71| R [BlIEEZEERA3-321H5% 0.28] 641,055
72| EE [BlEEZEERA3-361158 0.14| 320,527
73[R [BlIEEEEERA43-86115% 0.24| 540,731
74| e [BlIEEZEERA3-81115% 0.16] 366,317
75| R [BlIEEZEERA3-71H5E 0.23| 526,581
76| e |[BIEEZEERA3-72115% 0.15| 343,422
77\ R |[BlIEESEEERA43-209H 55k 0.19| 435,001
78|FEEE |[FlIEEZEEERA3-210M 5% 0.19| 435,001
ARt 20.62
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B/IIA
B |BETE e HE(AE) E'f;m

1HETE |ETEATEER187-7i#5E(3E 41T ER281H5R) 0.12 203,593

0ETT& | E1T & AT E ER156-97 35k (B o & 13) 0.16 285,169

3|ETE :ﬁ%’rﬁ@ﬁﬂ@ﬁxlsz 211115)@(%%7,%,#;@5;(371&%) 0.28 495,211

AEnE ;;r’IEjt’r’I@Exlss -1235R GR AR EEER 8121 0.14 247 344

5| FiElR |FiElE T IEER99 5t (3R AR MER6281H5%) 0.21 363,782

6lETTE |EMESEE )\ — t(Ein)ithsE 0.14 675,190

7VETTE |EESEER )\ = N5k 0.19 969,555

SlEMTE |EMESEE/ L ohitlsk 0.13 639,707

O|EME |ETEPEER726-1315% 0.11 810,868
10[ETT&E |[E7EDEE869-11H 5k 0.16 274,885
11|ETE |[ETESEE867H R 0.19 338,159
12[ETER |[ETESEE671H R 0.21 363,782
13|ETR |[ETEPEE672iM55: 0.19] 1,360,005
14|ETT&R  |[ETE D E 680 5k 0.11 187,208
15|ET&R |[ETEPEE731M 95 0.16 285,692
16|[ETT&R |[ETESEE897H xR 0.26| 1,284,911
17[ETT&  |[E17E G B E 898 5k 0.18| 1,307,944
18|ETT&’ |Er&E G EER875-11H 55k 0.15| 1,050,492
19|ETR |[ETEDE 86655k 0.19 338,159
20[ETT & |[E17& o EER844 sk 0.1 1,271,172
21| ETT & |[E17& 5 B ER845it 5t 0.21 368,837
22[ETT& |[E1T& o EER843it sk 0.26| 3,257,379
23|ETT& |[E1T& S EER579MM 5k 0.18 305,563
24| ETT & |[E1T & 9 ER588 it 5t 0.25| 1,799,315
25[ETT & |[E1T& o B ER589it 5k 0.26 449,368
26|ETT & |E 17 o ET 88 SR (=M ER 7703 5%) 0.17| 1,204,536
27|[ETT & |E 1T 1& oh L EZ O3 SR (1= M EX 964 3 5%) 2.24| 11,171,377
28|/ETT & |E T 1E th L EZ OS5 SR (1B M ER 87 131 5%) 0.67| 3,371,454
29| ETT & |E1T& o ER70-430 5% (R M ER 55531 57) 0.39| 2,767,793
0[EME |[EMEpEER210-135E (3R & h ELEZ 21031 5%) 0.83| 2,955,249
31|EME |[EE P EES7THSR(IEMERT71H5R) 0.13 170,839
RENE |[ET&EEER587iH5R 0.22| 2,731,034
B|EME |[ETEPEEE670H 5E(RE A L6691 55) 0.14| 1,737,931

= = E

u|EnE ;;FTEq]mEXIOBi’@Eﬁ(EE%FE’F’TE = MER1263 1.06| 5.316.062
B|EME |[ETEPHEEE116-21#15E (3R A MER2443H15%) 0.34| 1,232,038
36|EME |[ETEPEEE131-6i5E(E A EMER661HTE) 1.09| 3,876,509
7|EME  |E &P ER148-13h 55 (3R & = M ER 5811 5%) 0.26 926,976
38| EMTER |EME P EER65315E 0.25[ 3,041,379
0lEnE f;jﬁ@tiﬂ&%&lﬂﬁ(@%ﬂ@tb&6541111 0.14| 1775172
A0[ETE |E1T&E B ER 7285k 0.19| 2,408,276
ALETE |E1T&E P E 575 5E 0.24| 2,917,241
A2ETE |EEPEEERS576M5E(GR A D B ER575H5E) 0.15| 1,824,828
A[EMER |EN&EEERS77i 55 (3R A& D E ER 5751 5%) 0.15 253,619
AAETER  |E1T & EER158-21h 5% (3R 4 # 40 ER 6463 55%) 0.3| 1,056,645
AS[ETTER | BT o EZ 896t 5t 0.1 339,355
46| ETTER  |E1T&E D EEZ6821t 5k 0.31| 1,100,226
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A7|ETE |EMESEER163M5E(E A P ER6231H5E) 0.45[ 1,607,830
AS|IETT& |E1T& o L EZ148-3 3t 5% (=M ER 31031 577) 0.16 581,548
AOETE |ETTE S EEZ5901 5% (B 7 & 13) 0.17 297,196
50[ET& |ETTEp EE847 5k 0.19 692,999
51|ET & |[EME P EER214-1111558 (3R &% P ER 30931 55%) 0.11 381,864
52[ETT& |[ETE P EER162-135E (R A H P ER6271H15%) 0.37| 1,327,058
53[ETT& |[E1E P B EY158-135% (3R & # P ER643315%) 0.19 674,781
54[ETT& |[E &P EEY131-293 55 3R A EMER 30531 55%) 0.14 512,605
55| KEE | AEEALREER NE/)\ 1478115 0.14 416,609
56| KEE | AKEEAIEEER NIE/)\ER1787H#I5E 0.2| 1,004,539
57| KEE | AEEALREER N/ ER16421 58 (22 Ih1R) 0.14 674,691
58| KEE | AEEALREE N/ ER16221 58 (282 Ih1R) 0.19 929,574
59| KEE | AEEALREE N/ ER15541 58 (282 Ih1R) 0.13 649,202
60| KEE | AEEALREER NE/)\ER14794 58 (202 Ih1R) 0.14 674,691
61| KEE | AEEALREER N/ ER15481 58 (282 Ih 1) 0.14 183,320
62| KEE | AEEALREER N/ 1621358 (22 Ih 1) 0.11 569,739
63| KEE | AEEALREER /) ER16361 58 (27 Ih1R) 0.11 136,515
64| KEE | AEEALREER N/ ER16463 58 (202 Ih 1) 0.14 400,084
65| KEE | AEEALREER N/ ER1647H 58 (207 Ih 1) 0.12 609,720
66| NEE | AEEALEEER /) ER16481 58 (282 Ih 1) 0.2 094,544
67| KEE | AEEALREER NE/)\ 17904 58 (287 I 1R) 0.18 228,565
68| NEE | AEEALREER NE/)\ 1791358 (207 Ih 1) 0.24 305,533
69| KEE | AEEALREER N/ ER15513 58 (207 Ih1R) 0.2 975,553
70| KEE | KEEABRER B/ \ER15521t 55k (Bl 5 I HR) 0.1 519,762
71REE | KEEALREER N/ ER14691 58 (282 Ih1R) 0.11 140,805
2| KEE | AKEEALREER N/ ER15571# 58 (282 Ih1R) 0.13 634,709
73| KEE | KEEARER ME/\ER17861t 5k (Bl 5 IH k) 0.17 222,064
- | REEARER NE/NER1498H5% (B ik
TARER e smn im0 B 1497 H038) 0.17| 850,110
75| KEE | AEEALREE N/ ER14891 SR (28 7 Ih 1R) 0.2 258,598
76| KEE | AEEAKRER ME/\ER1512-1ith 5k (Bl 2 IH1R) 0.1 514,764
77\ KEE | KEEALREE N/ ER15223 58 (287 I R) 0.11 566,740
78| KEE | AEEAIREER NE/)\ER1471H158 0.16 277,674
79 KEE | AEEAIREER /) ER14861H15E 0.14 244,032
80| KE& |AKEEAIEEERNE/NERIS75H15E 0.13 223,638
81| KEE | AEEAIREER NE/)\ER16451158 0.12 211,436
2| KEE | AEEALREER N/ ER16561H 58 0.18 308,875
83| KEE |KEEABRER FME/\ER1561 5% (B 5 HHR) 0.12 593,728
84| KE& |AEEARER ME/ER1575-1ih5k (Bl 2 IH1R) 0.1 134,695
85| KE& | AEEARER FE/\ER1620-1ith 5% (B2 IH1R) 0.1 131,964
86| KEE |AEEALRERFE/\ER16235 5% (B2 T HR) 0.17 859,106
87| KE& | KEEABRER FME/\ER16431 5% (B2 HR) 0.17 217,904
88| KEE | AE RIS R AR/ ERATIH 0.21| 1,030,527
89|EME |EMEHEFER—hoolhsk 0.2 997,543
QEME |ETEHEFER—ho—ihsR 0.2 997,543
91|[ETT & |ETT1&# £+ Ex14883th 5k (210 Ih R) 0.16 204,512
REME |EEHEF 1078 SR (20T R) 0.1 491,275
93|/EME |E1TE T EFER1079-13 5% (E 10 Ih1R) 0.11 536,254
94|/ETTE |E & # £+ ER10803# 5% (2R 10 I R) 0.1 723,862
O5|/ETTE |ETTE £ ER10604# 58 (2R 10 I R) 0.25| 1,254,425
96|/ETTE |ETTE R ERO07 5k (Bl 10t 158) 0.17| 1,190,272
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97| ETT& |ETT LT ER14223 5% 0.12 204,987

98| ET& |ETEHEFE2039- 111115)@(%1 Y3 3R) 0.13 227,821

MEME |[ETTEMNEFERI076M SR (Z {0 iH1R) 0.24 425,139
100|ETTE | ETTERE T ER10794 5% (BR 10 th1R) 0.1 489,775
101 ETE | ETTER T Ex20393 5% (BR 10 1 1) 0.13 227,821
102|ETE | ETTEH T TFE11853 5% (87 ihik) 0.11 555,245
103|ETE | ETTEH T FE1189i 5% (85 thik) 0.17 870,101
104|ETT& |ETTEETFER1431H15% 0.15 188,781
105|ETT& | ETT&EHE T ER1433H5% 0.22| 1,088,001
106|ETTE | ETTEH T FE1433-135% 0.25| 1,255,924
107|ETT& |ETT&EHE T ER1438H15% 0.29 499,220
108|ETT& | E1T&HEFER1507H15% 0.11 187,208
109|ETT& | E1T&H H ER135-21 5 3R A& =M ER 496 3 5% 0.25 442 744
110|/ETTE | /& 177 E #7 Bl ER 135-530 5 (= A ER 4993t 577) 0.34 596,136
111|ETE | ETTEH EER142-23 57 (1= ER 5003t 577) 0.44 764,169
112|ETT & | E1T & E ER2-23h 55 (3R A& A ER 76 21 57) 0.1 291,076
113|ETTE | E1T&E & B ER 8t 5k (5 M ER 968 it 57) 0.23| 1,134,480
114 ETT&E | E1T&E & B ER 9 5k (5 ER 9693t 577 0.48| 2,419,890
115 ETTE | BT & E ER9-1 3 Sk (M ER 9831 57) 0.12 613,219
116|ETTE | E1T&EEE ER9-23Mh S (B M ER 981 it 57) 0.35| 1,728,207
117[ET&E | E1T &S B ER9-3iHh S (M ER 98211 57) 0.44| 2,212,985
118|ETT&E | BT &EEE ER 103 5% (=K ER 96611 5%) 0.42| 2,101,536
119|ETTE | EM&EEEER18H SR (E M ER106215%) 0.25| 1,749,393
120 ETT & | E1T&EEER24-31 55 3R A F R ER 24531 5%) 0.31| 2,181,571
121|ETE | ETEREEER25M5R (R A @R 277H5%) 0.24| 2,979,310
122[E1T&E |ETEEMER74210 58 (5= 17 8 B ER 431 55) 0.26 758,420
123|ETE | ETTE T EEL86-2it 5k (3R A EMER7743155%) 0.18| 1,263,015

ARt 28.48
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11&FLE |[HLUEEZFER67T1ME 0.24| 158,393
2|&lE |HUEEHER14045% 0.26] 176,177
3|&LE |&HLER FERS57515E 1.05( 701,508
AlELE |HLER N ERA475H5R 0.11 76,434
5|1&IE |&HUEEHER34345E 0.28| 188,380
6|FE |HUEREHERI72H5E 0.12 80,719
7|158l&E |HUEEHER307HE 0.12 80,482
8|&E |HUEEIHER26215E 0.19| 125,823
o|FIE |HUEEHERI76MHE 0.13 83,716
10[FUE |[HUEEHE260H55: 0.34] 209,549
11|FUE [HUEBFER674H55R 0.17| 112,662
R2FLUE |[HLUEEBFER695H R 0.13 85,596
13|FUE |[HLEEBZFE698H R 0.19| 125,928
14|FE [FHLUUEEZFE10045H 557 0.26] 177,192
15|FUE |[HLUEBZFEI0SH xR 0.27| 182,925
16|F&E [FLIER 9885k 0.35] 230,927
17[&UE [HULUER 1410557 0.48| 321,476
18|FLE [FHLER 14153557 0.7 465,805
19|FE [FLER EI65H5E 0.54| 362,366
20 E [BHUEEHER141M5E 0.25| 169,508
21 E [HLUEEHER142iH58 0.19| 125,263
2|51E |[HUUEFHERI0ME 0.14 91,346
23[&lE |[HUEEHER253M5E 0.55] 363,713
24| FlE |[HUEEHER25415% 0.47| 313,645
25[FE [HUEEHER250M5E 0.2| 135,625
26| FE |[&HLWEEZFERI09M SR 0.51| 340,185
27[&lE |[&HWEEZFER08HSE 0.25| 163,326
28| FIE |&LEEZFE898HSR 0.3 197,524
29| & |BUEERER251M5E 0.36] 238,899
[FEUE [HLUEEHER259M5E 0.11 75,321
[FUE [HLUEEHER394MSE 0.14 91,872
R(EFUE [BLUEEHERA15ME 0.15 97,949
B[FUE [HLUEEHER258HE 0.52| 348,537
MEFELUE [HLUEEHERA09M SR 0.28| 186,946
BEUE [FLUEEHERA01ME 0.71| 474,916
B6|FE [HFLUEEZFERIO7HSE 0.19| 127,528
7T |FTImhie N ER0854 1 5k 0.12| 180,726
BlEFE |[HLLER FNER1091H55E 0.43| 658,989
9|FE |FLER K EK988-1ih5% 0.41| 273,796
40[FILE |&FLLEE N ER988-3ih 5% 0.41| 273,796
A1[FIE |FULEE NER049633E; 0.13| 191,224
R2(FE |FUEE NEROS77HE; 0.27| 406,308
A3[FIE |FLEE 14053 5%; 0.24| 359,546
A4[FIE |HULEEMHER0147H5E; 0.14] 216,303
AS5|FE |&IE=#E0011H5E 0.1 64,664
46|FIE |FE=1#E000333E; 0.48| 737,559
A7\ &K |E&KREER0788H 55 0.15 97,976
48| &K |E&KREER10821 55 0.21| 137,536
49| &K |E&KREER10851H 55 0.22| 149,437
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50[R&E/K |EEKIREE10861H 55k 0.15 99,973
S51[RE/K |[EEKEREE1106:H55E 0.16] 108,823
52[REK |EEKREER1111H557 0.1 66,425
53| UE |BHLEBEEHER0269H5%E: 0.29| 449,272
54| E |HLEEHKER0358H5E; 0.1 149,121
55L& |HULUEEHER0146MH R 0.15| 223,640
56| ¥ TITh |#TITh & HEER01981 5% 0.1 149,655
578 L1& |&LEBZFER067015E; 0.11| 168,454
58[&E |[HULUEEHER256H5E 0.29] 193,591
5o[FE |[HUEEHER229M5E 0.12 80,863
60[FE |[HLUEEHER231ME 0.34| 227,450
6l{FE |[HLUEEHERI163ME 0.26] 172,026
e2[&FE |[HULUEEHERI78ME 0.25| 168,764
e3|&E |[HLLEEHER3I8M R 0.15 99,428
e4|EFE |[HLUEEHERI93M R 0.12 79,338
65[FE |[HLEEHERI34ME 0.13 85,782
66|FE |[HLEEHERI35MH R 0.14 93,878
67[&FE |[HLUEEHERI38HE 0.33] 221,565
68|&FE |[HLEEHERI30ME 0.28| 186,934
69|FLE |[FLES T E969iH5E 0.11 71,404
70|FE |[FLES NERI7T1HE 0.1 67,416
71|1HUE |[FLES 9835k 0.15| 101,135
72[&lUE |[HLUER 109255k 0.26] 173,228
73[&E |[HWUER 1409557 0.15 98,014
74|& & |[HLUEEHERIS5M5E 0.19] 132,890
75 LE [HULUEEHER348H5E 0.2| 134,038
76[REK |EEKREER1141H557 0.77| 513,541
77[REK |EEKREER1162:H55%; 0.1 154,759
78|F @1 |EE11583#5E; 0.1 233,117
79&FLUE [BLUEEHER248iH5E 0.25| 165,891
80[FE |[HLUEEHER144H5% 0.41| 273,671
81{FE |[HLUEEHER232iM5E 0.4 269,786
g2[&lE |[HUEEHER233ME 0.51| 337,063
83[&E |[HLUEEHER145M5E 0.32] 210,843
g4|FE [BLUEEHERI73ME 0.11 72,933
85[FE |[HLUEEHER203M5E 0.11 71,473
g86|&FE |[FLE=¥E0010i 55 0.42| 280,921
g7[&lE |[HLUEEHERII7HSR 0.14 93,878
g8|&E |[HLUEEHERA19ME 0.25| 168,556
89[FE |[HLUEEHER202iM5E 0.1 65,000
Q|FE |[FLEEHERA08HE 0.43| 287,054
91|F L& |&LEE 140835k 0.22| 145,411
RFUE |[FLEE NERA438H5E 0.11 75,377
93|FE |FLEE NER421H5E 0.17] 113,580
U|FE |[FLEE NE515H5%E 0.12 76,928
95|FE |FLEEFHEI49M 5% 0.17] 113,089
96|FE |FLEEFHEI29M5E 0.13 87,675
97|FE |FUEEHE263M5E 0.13 89,627
98|FE |FLEEHE265M5E 0.3] 203,131
WFUE |[FHUEEHERAGLSE 0.41| 276,436
100|&E |&HILEEHE3I73H5RE 0.28| 186,545
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101 HLUE® N 570557 0.4] 265,121
102 EHLLE R N 9521 5k 0.16] 109,139
103 HLLE & N 4581 5k 0.13 87,337
104 EHLUER N 4743557 0.13 85,854
105 EHLUE® N 5763 55: 0.29] 193,325
106 EHLUE R N 5785k 0.28| 184,004
107 EHLUE R N 5921t 57 0.19| 124,200
108 EHLLE & N 9591 5% 0.15| 101,116
109 HLLE & N 9601 5k 0.55] 365,130
110 EHLLE R N 96815k 0.1 67,860
111 HLLE R ZF 8951 5k 0.16] 109,328

112 & E BREE8961 7R 0.19 129,128
113 & E REE897IHN TR 0.13 86,996

114 EHLUER N E1406-135% 0.18| 118,987
115 EHLUER N 14073055 0.35] 235,776
116 HLLE & HEX 3681557 0.18| 119,769
117 EHLEEHEHRE115H 557 0.3 197,995
118 EHLLUE R N 966155k 0.54| 362,634
119 EHLUE R N E140030 5% 0.24| 161,030
120 EHLUER N 14134055 0.34| 229,180
121 EHLUER N 14143055 0.4 266,351
122 BB BERE—/N=H5E 0.26] 414,131

31.40
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